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Set0l Answers for No.9363

“:“‘;j?gi nd nB)=2  n(4u B)=5
Ansl =| 1= “;Za;_{;} 2= n(4-B)=2 n(U-(4 U B))=8
aread = {0,3, 45,6, 10, 11, 12} n(B-4)=1 Math@MUT
m"éjé’ ;zi n(4d N B)=3 n(duU B)=6
Ans2=| .1 = “re;re(;_’{’} ,2=| n(4-B)=3 n(U—-(4 U B))=5
aread = {3,4,6,7,10} n(B-4)=0 Math@MUT
0 areal = {16,17,19} ) ]
area? = {12} n(intersect(4, B, C)) =1 n(4d-B)=3
area3 = {4,13} n(union(4, B, C))=9 n(B-4)=2
aread ={ } n(d N B)=2 n(C N (4 v B))=1
Ans3 =|.1= ,.2=
areas = {15} n(B N C)=1 n(C U (4 N B))=4
areab = { } n4d4 v C)=17 n(intersect(4, B, C)'): 19
area7 = {9, 18} n(BuC)=6 Math@MUT
L Larea8=1{0,1,2,3,5,6,7,8,10, 11, 14} | i
4V B={2,3,4,6,810} 1 [ 1 =(A'= {area3, aread }) 1
AN B={2,45] 2=(B-A'={area2})
A v B={0,1,2,3,4,56,7,8,9,11} ‘3:(14' A B':{area4})
B nA={10} .4:(B,= {areal, area4, area7, area8 })
Ansd = ’ A-B=1{3,6; , Ans5 = S5=(C U (4 N B)={area2, area4, area5, areab, area?7 })
B-4=1{0,1,5,7,9, 11} O6=((4 v C) n (B U C)={area2, aread, areas, areab, area?7 } )
(4 U B)=1{0,1,5,7,9,11} 7=((C-4) n (C-B)={area7})
4 nB={0,1,57911} 8=(C —A'={areal, area2})
L(4-B)=1{0,1,2,4,57,8,9,10, 11} ] L 9=(C N (B-A4) = {aread, area5, area7}) ]
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Set0l Answers for No.9435

areal = 11,6} nd N B)=2  n(4du B)=5
Ansl =| 1= “re“Z;_{iﬁ} 2= n(4-B)=2 n(U-(4 U B))=6
aread jzeg, 3.5.7.9.10} nB-4)=1 Math@MUT
areal = {6,7,9,16} nA ~ B)=2 nA U B)=7
Ans2=| 1= "Zer‘e’;:_{?’lﬁ} ,2=| n(4-B)=4 n(U-(4 U B))=6
aread = {4,5,10, 12, 14,15} n(B-4)=1 Math@MUT
[ areal = {3, 14} ) |
area? = {9, 13} n(intersect(4, B, C))=0 n(4d-B)=3
area3 = {0, 2,8} n(union(4, B, C)) =10 n(B-4)=4
nsi<| 12 aread = {12} e n(4d N B)=2 n(C N (4 v B))=2
area’ = { } i n(B nNnC)=1 n(Cu (4 nB))=5
area6= {10} nd u C)=7 n(intersect(4, B, C)) =16
area7 = {4} n(B U C)=8 Math@MUT
L Larea8={1,5,6,7,11,15}] ]
4 v B:{0’1’2’3’5’6’7’8’9’ 10} I AIZ(AVZ{GVEG_?,(U‘@CHI}) 1
A/mB={2,5,6} .2:(B'—A'={area1})
4V B= {'1’2’ 3,4,5,6,10; .3:(A’ U B'= {areal, area3, aread })
BN A4={0,7,8,9} 4=(B v C={area2, area3, aread, areal, areab, area7 })
Ans4 = 4-B={1,3,10} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areas, area6 })
B-A4={4} 6=((4 U B) n (B v C)={area2, area3, aread, area5, area6 })
(4 v B)': {4} 7=((B—-A4) v (B-C)={area2, area3, areab })
A N B={4} 8=(A4 - B = {area3, area6})
L (A—B),:{0,2,4,5,6,7,8,9} i L .9=((C—B),—A:{area3,area6,area8}) i
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Set0l Answers for No.9484

areal = {3,9,10, 11} 24 A B)=2 n(Ad U B)=7

Ansl =| 1= “Zerii;_{zl? 2= n(4-B)=4 n(U-(4 U B))=4
wread - 12.4.5. 61 n(B-A)=1 Math@MUT
arealzi{{Ss: 171,1123}} nA ~ B)=3 n(A U B)=S8

Ans2=|.1=| L 2= n(4-B)=3 n(U-(4 U B))=5

area3 = {4,8}

aread = (6,9, 10, 14, 15} n(B-4)=2 Math@MUT
[ areal = {11,16,17} | )
area? = {12} n(intersect(4, B, C)) =1 n(4d-B)=4
area3 ={2,4,8} n(union(4, B, C)) =11 n(B-4)=3
dnsi<| 12 aread = {1} . n(4d N B)=2 n(C N (4 v B))=2
' area5 = {14} > nB n C)=1 n(C U (4N B))=5
areab = { } n(d v C)=8 n(intersect(4, B, C)) =16
area7 ={9,15} n(B U C)=8 Math@MUT
L Larea8 = {3,5,6,7,10, 13 }] ]
(4 U B=1{4,5,7,9,10,11,12,13,15,16, 17} I 1 =(B = {areal, aread ) |
AnB={} 2=(B-A={area3})
4 U’B =1{4,5,6,7,8,14,16} 3=0((4 n B)'= {areal, area3, area4 })
B N A4={91011,12,13,15,17} 4=(A4 n C={area4,area’})
Ans4 = A-B=1{4,5,7,16} , Ans5 = S5=(C n (4 v B)={aread, areas, area6})
B—4= {6,8,14} O6=((4 N C) v (B n C)={aread, areas, areab})
(4 U B)=1{6,8,14} 7=((B-4) n (B-C)={area3})
A N B'=1{6,8,14} 8=(A4' - C = {area6, area7})
L (A-B)'=1{6,8,9,10, 11, 12, 13, 14, 15, 17} | L 9=((C~A4) - B={areal, aread, areas8 }) J
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Set0l Answers for No.9503
areal = {4,9, 10}

area2= (5. 12, 13) n(4 n B)=3  n(4 U B)=6

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=7
area3 ={ }
aread = {6,7,8, 11, 14, 15, 16} n(B-4)=0 Math@MUT
area1={24i6,1123, 14} nA A B)=1 n(A U B)=S8
Ans2=| .1 = ar;’;;“: {‘8){9) 1}0} L 2=| n(4-B)=4 n(U-(4 U B))=4
aread = {3,5.7.11} n(B-—A4)=3 Math@MUT
i areal = {16} ) i
area? = {10, 12} n(intersect(4, B, C))=0 n(d-B)=5
area3 = {8, 11,15} n(union(4, B, C)) =10 n(B-4)=3
ns3=| 12 aread = {4,7,9, 14} /. n(4d N B)=2 n(C N (4uv B))=4
' area5=1{} > n(B N C)=0 n(C U (4N B))=6
area6={ } nd u C)=7 n(intersect(4, B, C)) =16
area7 = { } n(Bu C)=9 Math@MUT
L Larea8 = {2,3,5,6,13,17}] ]
4 v B=15,6,12,13, 14,15} .]:(Brz{areal,area4})
, 4 N B={6} .2=(B'—A':{area]})
A U B={3,4,6, 7,’8, 9,10, 11,12, 13, 16,17} 3=((A-B) U (B—A)={areal, area3})
B nA4={51415} 4=(4 v C={areal, areal, area4, areal, areab, area7 })
Ans4 = A-B=1{12,13} , AnsS = S=(4 v (B n C)={areal, areal, aread, area5, area6 })
B-A= {3,4,7,8,9,10, 11, 16, 17} 6=((4 U B) n (4 v C)={areal, area2, aread, areal, areab6 })
(4 U B)=1{3,4,7,8,9,10,11, 16,17} 7=((B—-4) n (B-C)={areal3})
A N B= {3,4,7,8,9,10, 11, 16,17} .8=(B’ uC= {areal, area, area3, aread, area7, areal8 } )
l(4-B) =1{3,4,5,6,7,8,9,10, 11, 14, 15, 16, 17 } | L 9=(4 N (B-C) = {areal, aread, area5} ) J
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Set0l Answers for No.9630

areal = {4,8} nd nB)y=1 n(duB)=6
Ansl =| 1= arz;e;iio{,lsé} 2= n(4-B)=2 n(U-(4 U B))=5
aread = {1,2.6.7,9) n(B-4)=3 Math@MUT
areal = {7} n(d N B)=3 n(4du B)=7
Ans2=| 1= Z:ZZ?;SS 12 ,2=| n(4-B)=1 n(U-(4 U B))=5
aread = {1,2,3,8,10} n(B-4)=3 Math@MUT
[ areal = {14, 16} i |
area? ={7,10} n(intersect(A4, B, C)) =0 n(4d-B)=4
area3=1{0,1,4,5,13} n(union(4, B, C)) = 12 n(B-A)=5
| | areat=(1215) | n(4 ~ B)y=2 n(C (40U B))=2
area’ = { } ’ n(B N C)=0 n(C U (4 N B))=5
area6 = { } nd v C)=7 n(intersect(4, B, C)) =17
area7 = {6} n(Bu C)=10 Math@MUT
L Larea8 = {2,3,8,9,11}] ]
4V B=1{4,6,811,15,16} I .1=(A':{area3,area4}) 1
/ 4 N B={4,11,15} 2=(B-A={area3})
4V B={3,45, 7? 9,10,11, 12,13, 14,15} 3=((4 n B)'= {areal, area3, area4})
B N A4={6,816} .4:(B,= {areal, area4, area7, area8 })
A-B={} , Ans5 = S=(A4 n (B v C)={area2, aread, area5 })

Ans4 =
B-A= {3,5,7,9,10, 12,13, 14}

(4 U B)=1{3,5,7,9,10,12, 13, 14}
A~ B'=(3,571,9,10,12, 13, 14}

L(4-B)=1{3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15, 16 } | L
PO 00000:000:000000000000 0000 000000000000000000000000 0000000000000 0000000000000 0000000 00000 0S OISO PSS 0000006006000 00

06=((4 N B) U (4 n C)={areal, area4, areal })
7=((A4-B) U (A-C)={areal, area2, area4})
8=(4 n C= {area3, area8 })
9=((4- C)’— B = {area3, area$, area6 })
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Set0l Answers for No.9647

areal ={3,5,7,8,10, 11} N4 A B)=0 n(A4 U B)=9

Ansl=| 1= arerfz{Z{g}m ,2=| n(4-B)=6 n(U-(4 U B))=2
aread = {2, 6 n(B-4)=3 Math@MUT
“’e"éj;"gi n(d N B)=2  n(duU B)=9
Ans2=|.1=| T 2= n(4-B)=2 n(U-(4 U B))=3

area3=1{1,2,6,8,10} [

areat— (3. 11, 12) n(B-A4)=5 Math@MUT
[ areal = {5,16} ] T
area? = { } n(intersect(4, B, C)) =2 n(4A-B)=4
area3 = {6, 8,15} n(union(4, B, C)) =12 n(B-4)=3
dnsi=| 12 aread = {3, 14} . n(4 N B)=2 n(C N (4 U B)=4
‘ area5={1,2% [ n(B N C)=2 n(C U (4N B))=7
areab = { } n(4 v C)=9 n(intersect(A4, B, C)/): 14
area7 = {4,7,13} n(B U C)=10 Math@MUT
L Larea8 = {9, 10, 11, 12 } | ]
4 B=1{1,3,4,6,9,10,12} 1 =(A = {area3, aread})
4~ B={1,3,6,10} 2=(A-B=/{areal})
Avu B={1,2,356,7,8,10,11,13} 3=(4 N B'={aread})
BnA= 149,12} 4=(B v C={area2, area3, area4, area5, area6, area?7})
Ans4 = A-B={} , AnsS = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B —d= {2,5,7,8,11,13} 6=((4 v B) n (B v C)={areal, area3, aread, area’, area6 })
(4 U B)=1{2,5,7,8,11,13} 7=((A-B) n (A-C)={areal })
A N B=1{25781113} 8=(C =B = {area2, area3})
L(4-B)=1{1,2,3,4,5,6,7,8,9,10,11, 12, 13} L 9=(B n (C-4) = {areal, area4, area8 }) J
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Set0l Answers for No.9779
fregl_:{gsfg} n(4 N B)=3  n(4 U B)=6
Ansl=| .1 = “:fea;_{’lo’} ,.2=| n(4-B)=2 n(U-(4 U B))=6
aread = {0,1,2,7,8, 11} n(B-A)=1 Math@MUT
“rm;{?’;’lél}} n(4 N B)=2  n(4 U B)=10
Ans2=| 1= are;’ge_“{gl 50,10y 25| MA-B)I=3 n(U-(4 U B))=4
aread = {2,3,4,13} n(B-4)=3 Math@MUT i
i [ areal = {11,13} ] )
area? = {2} n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {10, 17,18} n(union(4, B, C)) = 13 n(B-A)=4
ns3=| 71— aread = { } P n(4d N B)=2 n(C N (4uvB))=2
mI= AT areas= {16} 4= n(B A C)=2 n(C U (4 N B))=8
areab = {14} n(4 u C)=10 n(intersect(4, B, C) ) =18
area7 ={3,9,12, 19,20} n(B v C)=11 Math@MUT
Larea8 = {4,5,6,7,8, 15} ] i
[ A=(A N B={areal}) i

AU B={2,4,56,7,8,9,12} ]
4 N B=1{2,4,8} 2=(B-A'={areal})
AU B=1{23,45,6728,10,11,13, 14} 3=((4 U B) ={aread})
B nA4={912} .4:(C’= {areal, area2, area3, area8 })
Ans4 = A-B=15,6,7} , Ans5 = S=(C U (4 n B)={area2, area4, areas, areab, area?7 })
B-A= {3,10,11, 13,14} 6=((4 v C) n (B v C)={area2, aread, areas, areab, area?7 } )
7=((C—-4) v (C—-B)={aread, areab, area7 })

(4 U B) =1{3,10, 11,13, 14}
A N B= {3,10, 11, 13, 14} 8= (A' U B'= {areal, area3, area4, areab, area7, area8 })
L (4-B)=1{2,3,4,8,9,10,11,12,13, 14} | 9=(4 ~ (C-B) = {area3, areab, area8 })
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Set0l Answers for No.10293

[Page = 0008]

”’“’1:2{_12;13} ndnB)=1 nduUB)=6
Ansl =| 1= ar:g“: {‘3;{7,}9} 2= n(4-B)=2 n(U-(4 U B))=5
aread = {5,6,8,10,11} n(B-4)=3 Math@MUT |
areal = {6,9, 11} n(dnB)=0 n(4duU B)=8
Ans2=| .1 = areal ={ } L 2=| n(4-B)=3 n(U-(4 U B))=6
area3=1{2,3,5,7, 12} n(B-A4)=5 Math@MUT
area4 =1{0,1,4,8,10,13} -
[ areal = {3,5} ] i
area? = { } n(intersect(4, B, C)) =3 n(4d-B)=3
area3 = {8, 14} n(union(4, B, C)) = 11 n(B-A4)=2
sz 1o aread = {13} 5. n(4d N B)=3 n(C N (4 U B))=4
‘ area5=16,10,16} [ n(B N C)=3 n(C U (4N B))=7
areab = { } n(4 v C)=9 n(intersect(4, B, C)/): 14
area7 ={1,2,4} n(Bu C)=9 Math@MUT
L Larea8={0,7,9, 11,12, 15} | ]

A U B=1{4,528,10,12,13,14} | r
AN B={513}

AU B={5672%091011,13}
B N A=1{41214}
A-B=1{8,10}
B-A4=1{6,7,9,11}

(44U B)=1{6,7,9,11}

A N B={670911}
[(A-B) =1{4,5,6,7,9, 11,12, 13, 14} ] L

Ans4 = , AnsS =

A=(4 N B={areal})
.2=(A'—B= {aread})
3=((A-B) v (B-A4)={areal, area3})
4=(B v C={area2, area3, area4, area5, areab, area7 })
S=(B v (4 n C)={area2, area3, aread, areal, area6 })
6=((4 v B) n (B U C)={areal, area3, aread, area’, area6 })
7=((C-4) n (C-B)={area7})
8= (B’ U C= {areal, area2, area3, area4, area7, area8 })
9= (B’ N (4- C)': {area4, area?7, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.10311

”’6”1:2{_0’ 2’7} (4 A B)=1  n(4 U B)=6
Ansl =| 1= a;‘gjiz‘{i;} 2= n(4-B)=3 n(U-(4 U B))=6
| lareas=(2.6,8.9, 10,11} -"B-A)=2 Math@MUT |
areal =7{5,9, 10,12} _n(A A B)=3 n(4 U B)=10
Ans2=| 1= ‘Z:;i‘_{{gé 171’1153}} ,.2=| n(4-B)=4 n(U—-(4 U B))=5
| laread=(4.14,16,17,18y]  -NB-A=3 Math@MUT 1 |
[ areal = {3} ] ]
area2 = {10} n(intersect(4, B, C)) =0 n(4A-B)=4
area3 = {13} n(union(4, B, C)) = 10 n(B-A)=3
Ans3—| 1= area4 = {5,6,12} P n(4d N B)=1 n(C N (4 v B))=5
' area5=1{} o n(B N C)=2 n(C U (4N B)=38
area6={7,11} n(4 v C)=9 n(intersect(4, B, C)/) =14
area7 = {4,9} n(Bu C)=9 Math@MUT
L Larea8 = {0, 1,2, 8} i
Av B={0,2,56,7,8,9,11} i 1=(4 N B={area2}) 7
AN B={2611} 2=(A-B={areal })
4w B={0,123,4,610,11,12,13} 3=({A-B) U (B-A)={areal, area3})
BN A={51789} 4=(4 N B={area2, area5})
Ansd = A-B={0} . Ans5 = S=(B v (4 n C)={area2, area3, area4, area5, area6 })
B-A= {1,3,4,10,12,13} 6=((4 v B) n (B v C)={areal, area3, area4, area’, areab })
(4 v B)’: {1,3,4,10,12,13} 7=((A4A-B) v ’(A—'C)Z {areal, area2, area4})
A N B= (1,3,4,10,12, 13} .8=(A4 — B = {area3, areab })
_(A—B)’={1,2, 3,4,5,6,7,8,9,10,11, 12, 13} L 9=(C n (B—A)':{area4, areal, area?7}) J
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Set0l Answers for No.10438

Ans4 =

[Page = 0010]

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢

A-B={12,13,15}
B —A=1{4,5,7,8,10,11,14,17,18}
(4 U B)=1{4,57,8,10,11, 14,17, 18}
A~ B'={4,57,8,10,11,14,17, 18}
(4-B)=1{4,5,6,7,8,9,10,11,14,16,17, 18}

, Ans5 =

“rer“;_{{z’gz} ndnB)=1 nduUB)=6
Ansl =| 1= areZ;f {‘3 s a1y 27| MA-B)=2 n(U=(4 U B)=S
aread = {4,6,9,10, 12} n(B-4)=3 Math@MUT
“’Z“f?l{%} n(4d N B)=2  n(4d U B)=5
Ans2=| 1= “::e"aj‘_{é 7 L 2=| n(4-B)=1 n(U-(4 U B))=1
aread = {2,3,4,5,8,9, 11} n(B-4)=2 Math@MUT
i areal = {4,5} l |
area = {17} n(intersect(4, B, C)) =0 n(4d-B)=4
area3=1{7,9,13} n(union(4, B, C)) =13 n(B-A4)=3
nsie| 12 aread = {8, 12} 5 n(d4d N B)=1 n(C ~ (4 U B))=2
mI= A areas=1{ } 4= n(B N C)=0 n(C U (4 N B))=8
areab = { } n(4 v C)=10 n(intersect(A4, B, C)') =16
area7 = {6, 10, 14, 15, 16 } n(Bu C)=11 Math@MUT
L area8 = {3,11, 18} |
[ AU B=1{6,9,12,13,15,16} ) i 1=(4 n B={area2})
' 4N B=1{69; 2=(B-4'={area2})
AU B'=1{4,56,7,8,9,10,11, 12,13, 14,15, 17, 18} 3=(4" U B = {areal, area3, areat })
Bnd= {16} 4=(B v C={area2, area3, area4, areal, areab, area7 })

S=(4 v (B n C)={areal, areal, aread, areal, area6 })
6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areat } )
J=((B-4) n (B-C)={area3})

.8:(B,— C= {aread, area?7})

.9:((B—A)’— C= {aread, area5, area7})




DGRV ERRNCIVIVEND’$:9:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0.0.0:0:0.60.0.0:0.:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | : WA B T L N O N LI O N D794
Set0l Answers for No.11352

areal = {3,5,6,14}

Ansl =| .1 area2={ } 2 n((AAm B)) :40 (n(A(;) B):)l)o 2
nsl = = ,.2=| n(A—-B)= n(U - U B))=
m‘ﬁa m{l:’: 7’{ f091 }2} 13} n(B-4)=6 Math@MUT
areal = {17} n(4 N B)=2  n(4 U B)=8
Ans2=| .1 = areal = {4, 15} 2= n(4-B)=1 n(U-(4 U B))=7
area3 ={5,7,9,10, 14} n(B—-A)=5 Math@MUT
area4 = {6,8, 11,12, 13,16, 18}
[ areal=1{5,9,15} ] )
area? = { } n(intersect(4, B, C))=0 n(d-B)=4
area3 = (4,13, 14} n(union(4, B, C)) = 13 n(B-A4)=3
il - aread = {10} S n(d N B)=0 n(C (4 v B))=1
' area5=1{} > n(B N C)=0 n(Cu (4N B)=7
areab = { } n(4 u C)=10 n(intersect(4, B, C)) =17
area7 ={2,6,7,8, 11,12} n(B v C)=10 Math@MUT
L L area8=1{3,16,17,18} | ]
A v B={2,3,4,56,7,8,9,12} i 1=(4 N B={area2}) 1
4 B={8; 2=(B -4 ={areal })
AUBf{2,8,9,10,11,13} .3:((AUB)':{area4})
B A=1{34506712}

4=(4A v B={areal, areal, area3, area4, area5, area6 })
Ans4 = ’ A-B=1{2,9} S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B -4={10,11,13} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 })
(4 U B)=1{10,11,13} 7=((C-4) n (C-B)={area7})
A A B=1{10,11,13} 8=(A' - B = {area3, areab})
[(A—-B) ={3,4,5,6,7,8,10,11,12,13 } ]
X [Page = 0011]

9=((A—-B) —C={area2, area3, area8 }) ]
PO00100:0:0.0010:0:0:0:0:0.0.0.010.0:0:0.0:0.0.0.0.0.0:0:0:0.0.0.000:0:000:0.0.0.00:0:0:0:0.0.0.0.0'0:0:00:0.0.0.00'0:0:00:0.0.0.0.0:0:0:0.0:0.0.0.00:0:0.0:0:0.0.0.00:0:0:0:0.0.0.0.0:0:0:00:0.0.0.0:0.0:0:00.0.0:0'0'0:0:0:0:0.0.0.0:0'0:0:0:0:0.0.0'0'0'

, AnsS =




X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXKXXXXKX XXX XXX KK KX KK KX KKK XXX LXK XXX KK XX KKK XK XKLL KKK KK LXK XXX KKK XK XXX KK XXX KXXKXKKXKKKKKMA /2-6400101-00012XX

Set0l Answers for No.11778

Ans4 =

‘”“”r: {24;6{’87; 12} n(4d N B)=1 n(4 U B)=8
Ansl=| .1 = are;e_“{z‘lo 11y p2=| pA=B)=4 n(U-(4 U B))=3
aread = 13,5,9} n(B-A4)=3 Math@MUT
”mlzz{ﬁ’{li’}m n(4 nB)=1 n(4 U B)=10
Ans2=| 1= areaj_“r{el“ s 67 11y [ 2= mA4-B)=3 n(U=(4 L B)=5
aread = (8,9, 10, 14, 15} n(B-4)=6 Math@MUT
[ [ areal=1{7,10,13} |
areal = {4} n(intersect(4, B, C)) =1 n(4-B)=4
area3 ={ } n(union(4, B, C)) =11 n(B-4)=1
R aread = {11} S n(4d N B)=2 n(C A (4 U B))=3
WIEIEL geas=1(15) 0T n(B A C)=2 n(C U (4 N B))=8
areab = {14} n(4 v C)=11 n(intersect(4, B, C) )= 15
area7=1{0,1,2,8} n(Bu C)=8 Math@MUT
L Larea8 = {3,5,6,9, 12} ]
4 U B=1{6,7,9,10,11,14} 1 [ d=(A N B={area2})
A0 B={11,14) 2=(A-B={area2})
AU B'=1{4,58,9,11,12,13,14,15} 3=((4 U BY = {areat})
Bnd= 16,7,10} 4=(A v B={areal, area2, area3, area4, area5, area6 })
A-B={9} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })

B —A=1{4,58,12,13,15}
(4 U B)=1{4,5,8,12,13,15}
A N B={4,58,12,13,15}

X [Page = 0012]

[(A4-B)=1{4,5,6,7,8,10, 11, 12, 13, 14, 15} ] L

6=((4 U B) n (B v C)={area2, area3, area4, area’, area6 })
J=((B—-A4) U (B-C)={area2, area3, areab })
.8=(B’—A’= {areal, aread })
9=(4 N (C—B)’: {areal, area2, area5 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12403

i AU B=1{2,56,7,9,12, 14,15}
AN B=1{26, 14}
AU B={23,45,68,10, 11,13, 14}
BN A={791215}
A-B={5} )
B —A4=1{3,4,8,10,11,13}
(4 U B)=1{3,4,8,10,11,13}
A N B'={3,4,81011,13}

Ans4 = AnsS =

‘”“”;E@Slo} nd N B)=1 n(du B)=7
Ansl =| 1= are;;e:‘{(;’i’i” 2= n(4-B)=2 n(U-(4 U B))=6
aread = {4,7,8,9, 11, 12} n(B-4)=4 Math@MUT
areal = {0, 6,13, 14} nA A B)=1 n(4 U B)=10
Ans2=| .1 = area2 = {9} L 2=| n(4-B)=4 n(U-(4 U B))=5
area3=1{1,3,8,10,12} n(B—A)=5 Math@MUT
aread = {2,4,5,7,11} i
[ i areal = {4,7,9} ] i
area = {14} n(intersect(4, B, C)) =1 n(4-B)=5
area3 = {15} n(union(4, B, C)) =11 n(B-A)=2
sl go| areat=168} | n(d n B)=2 n(C (4 v B))=4
' areas = {10} . n(B N C)=2 n(Cu (4 n B))=7
area6 = {12} n(4 u C)=10 n(intersect(4, B, C)) = 14
area7 = {2,11} n(Bu C)=8 Math@MUT
L Larea8 = {1, 3,5, 13 }] ]

i :(B,: {areal, aread })
.2=(B'—A= {area4})
3=((A4-B) U (B-A4)={areal, area3})
4=(B v C={area2, area3, area4, areal, areab, area7 })
S=(B v (4 n C)={area2, area3, aread, areal, area6 })
6=((4 Y B) n (B v C)={areal, area3, area4, area’, areal } )
7=((A-B) n (A-C)={areal })
8=(B —A = {areal, aread})

L(A-B)=12,3,4,6,7,8,9, 10, 11, 12, 13, 14, 15}

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢

9=((C—-B) —A'= {areal, area2, area5})
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Set0l Answers for No.12456

Ans4 =

areal ={3,5,7,9}

n(d N B)=2 n(4 v B)=9
Ansl =| 1= a;;f;i?égl‘ltzlé} 2= n(4-B)=4 n(U-(4 U B))=2
aread = (4,10} n(B-4)=3 Math@MUT
areal ={5,7, 10} n(d N B)=2  n(4du B)=7
Ans2=| .1 = “:eaiji’ ﬁi L 2=| n(4-B)=3 n(U-(4 U B))=5
area:li ia{?;& 9: 13,14} n(B-4)=2 Math@MUT
i areal = {5,7,9,14} ] -~ ]
area? = {3} n(intersect(4, B, C)) =1 n(4A-B)=4
area3={8,17,19} n(union(4, B, C)) =11 n(B-4)=3
ansi<| 1< aread = { } . n(4d N B)=2 n(Cn(4uB))=1
aread = {4} ’ n(BnNnC)=1 n(CuU (4 nB))=4
areab = { } n(4 v C)=8 n(intersect(4, B, C)/): 17
area7 = {11,20} L n(B v C)=7 Math@MUT
L Larea8 = {6, 10, 12, 13, 15, 16, 18 } J
AU B={5,6,7,8,9,12,13,15,16} ] i 1=(A v B={areal, areal, area3})
o AnB=13 2=(A'-B'={area3})
A v B={3,46,9,1011,14,16,17} 3=(4 N B'={aread})
Bnds= {5,7,8,12,13,15} .4:(A,= {area3, areab, area7, area8 })
A4-B={6,9,16} , Ans5 = S=(4 v (B n C)={areal, areal, aread, area5, area6 })
B-A= {3,4,10,11, 14,17} 6=((4 v B) n (4 v C)={areal, area?, area4, area’, areat6 })
(4 U B)=1{3,4,10,11, 14,17} 7=((B-4) n (B-C)={area3})
A~ B'={3,4,10,11,14,17} 8=(A4' - C = {areab, area7})
L(A—B) ={3,4,5,7,8,10, 11,12, 13, 14, 15, 17} | L 9=((B—-C) — A = {areal, aread, area5})

X [Page = 0014]

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12545

Ans4 =

X [Page = 0015]

“”2“54{36’ 71}0} n(d N B)=3 n4uU B)=8
Ansl =| 1= 3223;{5’8’13} 2= n(4-B)=2 n(U-(4 U B))=4
aread = {2, é, {1, 12} n(B-4)=3 Math@MUT
areal = {5, 11} nd N B)=1 ndu B)=7
Ans2=| 1= are;;i"i;g}g!}m L 2=| n(4-B)=2 n(U-(4 U B))=4
wreat—{3.4.9,13) n(B-A)=4 Math@MUT
i areal = {13, 15} ) |
area? ={3,4,5} n(intersect(A4, B, C)) =0 n(d-B)=2
area3 = {6,9, 18} n(union(4, B, C)) =11 n(B—A)=4
ns3—=| 17— aread ={ } 2= n(d N B)=3 n(C n (4 v B))=1
area’ = { } n(B N C)=1 n(Cu (4 nB))=6
area6= {17} n(d4d U C)=8 n(intersect(4, B, C) ) =17
area7 ={7,12} n(B U C)=9 Math@MUT
L Larea8 = {8, 10, 11, 14,16, 19 } | J
A U B=1{8,13,14,16,17} i r d=(A N B={area2})
, A~ B=1{16,17} 2=(A4-B'= {area2})

A v B={3,45,6728,9,10,11, 12,14, 15,16, 17} 3=((4 N B)’: {areal, area3, aread})
Bnd= 113} 4=(A4 v C={areal, area, area4, area5, areab, area7 })
A4-B={8,14} , Ans5 = S5=(C U (A4 n B)={area2, area4, areas, area6, area?7 })

B-A= {3,4,5,6,7,9,10, 11, 12, 15} 6=((4 v C) n (B U C)={area2, aread, areas, areab, area7 })
(4 U B)=1{3,4,5,6,7,9,10,11, 12,15} 7=((B-A4) N (B-C)={area3})
A~ B'=1{3,4,5670910,11,12,15} 8=(B n C={areal,area8})
| (4-B)=1{3,4,5,6,7,9,10, 11, 12,13, 15, 16, 17} | L 9=((4-B) - C = {areas, area6, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



DRV ERRNCIVIVEND’'0:9:0:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.6.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:6:0.0 ¢ | : WA L T L NN O N LI O N ) ¢
Set0l Answers for No.12583

areal = {6, 14}

X

Ans4 =

[Page = 0016]

L(A-B)=1{3,4,5,6,9,10, 11, 12, 13, 14, 15, 16, 17 } |
PO 00000:000:000000000000 0000 000000000000000000000000 0000000000000 0000000000000 0000000 00000 0S OISO PSS 0000006006000 00

" n(d N B)=3 n(4duU B)=8
Ansl=| .1 = a:f:jji{{150,1113,1165}} ,.2=| n(4-B)=2 n(U-(4 U B))=5
aread={4,7,8,9,12} n(B-4)=3 Math@MUT
area]:{6,29il{1‘;}13,15} N4~ B)=1 n(A U B)=8
Ans2=| .1 = az;“_gg 4} L 2=| n(4-B)=5 n(U—-(4 U B))=6
aread = {2,3,5,7,10, 12} n(B-4)=2 Math@MUT
[ areal = {3,15} | i
area = {14} n(intersect(4, B, C)) =1 n(4A-B)=4
area3 = {16, 17} n(union(4, B, C)) = 12 n(B-A4)=2
imsg| | areat=1567 | n(4d N B)=2 n(C A (4 U B))=3
T aread = {4} T n(B N C)=1 n(C U (4 N B))=8
areab = { } n(4 u C)=10 n(intersect(4, B, C)) = 14
area7 ={7,8,9,11} n(Bu C)=10 Math@MUT
L Larea8 = {10, 12, 13 } | i

AU B={506,7,8,9 11,12}
AN B={5}

AU B ={3,4,578,10,13,14,15,16,17}
BN A={691112}
A-B=1{7,8}

B —A=1{3,4,10,13,14,15,16,17}

(4 U B)=1{3,4,10,13, 14,15, 16,17}
A~ B'={3,4,10,13,14,15,16,17}

, Ans5 =

A=(B= {areal, area4})
.2:(B'—A'= {areal })

3=(4 N B'={aread})
4=(B v C={area2, area3, aread, areal, areab, area7 })
S5=(C U (4 n B)={area2, area4, area$, areab, area?7 })

6=((4 v C) n (B v C)={areal, aread, areas, areab, area7 })
7=((C-4) v (C-B)={aread, areab, area?7 })
8= (C'— B = {areal, area3})

9=((B-4) - C={areal, area2, area8})




DGRV ERRNCIVIVEND’0:9:0:0:0:0:0.6:0:0.0:0:0:0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.6:0.0.0:0.0:0:0.0:0.0:0:0.0 0.0.0.0.0:0.0.6°0.0.0:0.:0.0.0:0.0:0.:0.0:0.0.0:0.0:0.0.6:0.:0:0.0:0.0.0:0.0:6:0.0 ¢ | : WA B T L NN O N LI Lo ) 94
Set0l Answers for No.12589

areal = {2,3,10}

area? = {5, 11} n(4 N B)=2 n(4 v B)=9

Ansl =| .1 = .2=| n(4-B)=3 n(U-(4 U B))=2
area3=1{6,7,8,9} _
wread 1.4} n(B-A)=4 Math@MUT
area]:{zli,{IZ}, 14} n(A A B)=0 n(4 U B)=8
Ans2=| .1 = areas = 2=| n(4-B)=3 n(U-(4 U B))=5

area3=1{3,5,6,13,15} "

aread = {4,7,8,9,10} n(B-4)=>5 Math@MUT
[ [ areal = {13,15} ] i
area = {14} n(intersect(4, B, C)) =0 n(4-B)=2
area3 ={2,3,10} n(union(4, B, C)) =11 n(B-4)=6
aread = { } n(4d N B)=1 n(C N (4 U B))=3
Ans3 =| .1 = ,.2=
area’ = { } n(B N C)=3 n(Cu (4N B))=6
areab = {4,6,12} n(4d v C)=8 n(intersect(4, B, C)) = 14
area7 ={7,8} n(Bu C)=9 Math@MUT
L Larea8 = {5,9, 11} ]
4 U B=1{3,4,6711,13} 1 [ d=(4 N B={area2}) ]
, 40 B=14; 2=(B-A4'={areal })
4V B={34589,101112,13,14} 3=0(4 n B)'= {areal, area3, area4 })
B A=1{67} 4=(A n C={area4, area5})
Ans4 = A-B=1{3,11,13} , AnsS = S=(C v (A4 n B)={area2, area4, areal, areab, area?7})
B —A= {5,8,9,10,12, 14} 6=((4 v C) n (B v C)={area2, aread, areal, areab, area?7 })
(4 v B)': {5,8,9,10,12, 14} 7=((B—-4) U (B-C)={area2, area3, areab })
A N B'=1{58,910, 12, 14} 8=(A - B = {area3, area6})
L (A—B)':{4, 5,6,7,8,9,10,12, 14} | L 9=(A4 n (C—B)’:{areal, area2, areal }) ]

X [Page = 0017] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXKKXKXKXKXKKXKXKXKXXKXKKXKXKKKXKKXKXKKKXKKKKKKKKKKKKXKXKKKKKXKKKX KKK KK KK KK KKK KK KK KKK KKK KKK KKK KK KKK KK KK KKK KK KKKKK



areal = {3,5,6}

_ _ area? ={ }
Ansl=\ - T=1 a3 = (1,4,7,9.10, 11} "
aread = {2,8}
areal = {10, 11}
ns2—| 71— area? ={1,3,4,7,12}

area3 ={ }
area4 =1{2,5,6,8,9}

[ [ areal = {2,11}
area? = {0}
area3 = {5,8}
aread = {1}
Ans3 =| .1 = areas = {15} ,.2=
areab = { }
area7 = {3}

L larea8=1{4,6,7,9,10,12,13, 14}
[ 4 U B={5,6,7,8,9,10,11,12} | r
A N B={8,9, 12}

AU B =1{3,46,809,11,12,13}
BN A={5710}

,.2 =

DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:6:0.0 ¢ | : WA B T L NN O N 0T JO <) 04
Set0l Answers for No.12596

n(4d N B)=0 n(4 v B)=9
2= n(4-B)=3 n(U-(4 v B))=2
n(B-4)=6 Math@MUT
n(4 N B)=5 (4 U B)=7
n(Ad-B)=2 n(U-(4 v B))=5
n(B-4)=0 Math@MUT

n(intersect(4, B, C)) =1
n(union(4, B, C)) =28

n(d-B)=3
n(B-A4)=2

n(4d N B)=2 n(C N (4 U B))=2
n(B N C)=1 n(C U (4 N B))=4
n(4d v C)=6 n(intersect(4, B, C)) = 15
n(BuC)=6 Math@MUT

A =(4 v B={areal, area2, area3})
2=(A—-B={areal })
3=((4-B) n (B-A)={})

Ans4 =

A-B=1{6,11}
B —A=1{3,4,13}
(4 U B)=1{3,4,13}
A~ B'={3,413}
l(4-B)'=1{3,4,5,7,8,9,10, 12, 13} |

, Ans5 =

4=(A4A U B={areal, areal, area3, area4, area’, area6 } )
S=(B U (4 n C)={area2, area3, aread, area5, area6 })
6=((4 U B) n (B v C)={area2, area3, area4, area5, areab })
7=((A-B) n (A-C)={areal })
8= (C’— B = {area2, area3})
9= ((C—A)'— B ={areal, area4, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12620

[Page 0019]

Ans4 =

areal = {4,10, 11,12}

rea? = {13} n(4 N B)=1  n(4 U B)=8
Ansl=| .1 = ar‘;ae;_gs 70y 2= nd-B)=4 nU-(4 U B)=3
aread = 16,8, 14} n(B-4)=3 Math@MUT
“real;{{“é 51’09’1123}} n(4 N B)=3 n(4 U B)=10
Ans2=| 1= ‘Z:;3‘_{7’ §.11) 2= MA-B)=4 n(U=(4 L B)=3
aread = { 14,15, 16} n(B-4)=3 Math@MUT |
i areal = {7,15} i i
area? = { } n(intersect(4, B, C)) =1 n(4-B)=3
area3 ={3,6,12,13} n(union(4, B, C)) =11 n(B-A4)=5
P aread = {4} 5. n(4d N B)=1 n(C A (4 U B))=3
IEEEN greas =10 P07 n(B N C)=2 n(C U (4 N B))=5
area6 = {5} n4 v C)=7 n(intersect(4, B, C)) =13
area7 = {14, 16} n(B v C)=9 Math@MUT
L L area8={8,9,11} | J

AU B=1{4,571,8,9, 12, 13,14}
A~ B={13}

AU B'={3,4,56,7,9,10,11,13, 14}
BN A={812}
A-B=1{4,571,9, 14}

B —A4=1{3,6,10,11}

(4 U B)=1{3,6,10,11}

A4~ B'={3,61011}
(4-B)=1{3,6,8,10,11,12,13}

, Ans5 =

i =(B'= {areal, area4})
2=(B —A={aread})
3=(4 N B'={aread})
4= (A’ = {area3, areab, area7, area8 })

S=(B n (4 v C)={area2, areal, areab })
O6=((4 N B) U (B N C)={areal, areas, areab })
7=((A-B) n (A-C)={areal })
8= (A' U B'= {areal, area3, area4, areab, area7, area8})

L .9=((B—A)’—C= {areal, area2, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12651

Ans4 =

X [Page 0020]

areal = {1,10}

B'—A4=1{2,5,6,10,11,13, 14}
(4 U B)=1{2,5,6,10,11,13,14}
A4 N B'={2,56,10,11,13, 14}

(A-B)=1{1,2,3,5,6,10, 11, 12,13, 14}

rea? = (5. 8] n(d N B)=2 n(4duUB)=8
Ansl =| 1= ar:aja_ {‘4 67,0y 27| MA=B)=2 n(U=(4 L B)=3
wreat={3,3, 11} n(B-A)=4 Math@MUT
areal = {2;’{5;31}1’ 12} n(4 N B)=1 n(4 U B)=8
Ans2=| .1 = arzle;_b oy 2= nA-B)I=5 a(U-(4 v B))=4
sreatm {6.7,9,13} | n(B-A4)=2 Math@MUT
i areal = {4,5,7} ] ~ ]
area = {6,16} n(intersect(4, B, C)) =1 n(4A-B)=4
area3 = {8,11,17} n(union(4, B, C)) =11 n(B-A4)=3
sl 1 aread = {13} S n(4d N B)=3 n(C A (4 U B))=2
= areas=1{10} Pl = n(B N C)=1 n(C U (4 N B))=5
areab = { } n(4 v C)=8 n(intersect(4, B, C),): 16
area7 = {2} L nBu C)=8 Math@MUT
L Larea8={1,3,9,12, 14,15} | ]
[ AU B=1{1,3,4,7,8,9,12,15} ] [ 1 =(A = {area3, aread})
| AN B=1{12} 2=(B-A'={area2})
AV B={2,45,6,7,8,9,10,11,12,13, 14,15} ‘3:(14' U B = {areal, area3, aread})
BnA4={13} .4=(A': {area3, areab, area7, area8 })
A-B=14,7,8,9,15} , Ans5 = S=(B v (4 n C)={area, area3, aread, areas, area6 })

6=((4 v B) n (B v C)={areal, area3, aread, area5, areab6 })
7=((A-B) n (A-C)={areal })
8= (A' N B'= {area7, area8})
9=(B N (A-C) = {aread, area7, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



DGRV ERRNCIVIVEND’0:0:6:0:0:0:0.6:0:0.0:0:0°0:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0.:0.0:0.0:0.0.0:0.0.0:0.0:0.0.6:0.0.0:0.0:0.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | : W EX T L N ORI L A D704
Set0l Answers for No.12675

areal = {11,12}

area? = {6} n(4d N B)=1 n(4d U B)=6
Ansl =\ .1= area3 = {2,7.9} ,.2=| n(d-B)=2 n(U-(4 U B))=7
aread={1,3,4,5,8, 10, 13} n(B-4)=3 Math@MUT
””e“];{zé 180} n(d N B)=2  n(4du B)=7
Ans2=| 1= arzze;‘:;l{é 1}1} 2= n(4-B)=2 n(U-(4 U B))=4
aread = {4,5,7.9} n(B-4)=3 Math@MUT
i areal = {3,4,7} i i
area? = {1} n(intersect(4, B, C)) =1 n(4A-B)=4
area3 = {8,11} n(union(4, B, C))=9 n(B-—A4)=2
nsi<| 12 aread = {2} I n(4d N B)=2 n(C N (4 v B))=2
' aread = {9} u nB N C)=1 n(CuU (4 n B))=4
area6 = { } nd v C)=7 n(intersect(4, B, C)) = 12
area7 = {6} n(Bu C)=6 Math@MUT
L Larea8 = {0, 5, 10, 12} ] ]
4w B={0,2,3,56,7,8,10} [ 1 =(A v B={areal, area2, area3}) )
4N B=1{0,810} 2=(B-A={area3})
40 B=1{0,1,23,45,7,8,9,10,11} 3=(4 U B'= {areal, area3, area4})
B A={6} 4=(4 v C={areal, area2, aread, area’, area6, area’7 })
Ansd = A-B={2,3,5,7} . AnsS = S=(B U (4 n C)={area2, area3, aread, areal, area6 })

B-A4={1,4,9,11}
(4 U B)=1{1,4,9,11}
A~ B={1,40911}
L (4-B)=1{0,1,4,6,8,9,10,11}

6=((4 v B) n (B v C)={area2, area3, area4, area’, areal } )
7=((C—-4) n (C—-B)={area7})
8= (A, U B= {areal, area3, area4, area6, area7, aread8 })
.9:((C—B)’—A’= {areal, area2, area5 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.12684

areal = {7,10, 11}

n(d N B)=1 n(4 v B)=8
Ansl =| 1= areaZ=1{3} | 5 | A-B)=3 n(U-(4d U B))=4
area3={4,5,8,14} n(B-A4)=4 Math@MUT
area4 = {6,9,12,13}
areal = {2,10, 15} nA ~ B)=3 n(A U B)=6
Ans2=| .1 = ”re”jr;;g_’ 13’}14} 2= n(4-B)=3 n(U-(4 U B))=9
aread = 13,4,5,6,7,9, 11, 12,16} n(B-4)=0 Math@MUT |
i [ areal =0,3,11} | 1
area? = { } [n(intersect(4, B, C)) =0 n(4d-B)=3
area3 = {1,7,14} n(union(4, B, C)) =12 n(B-A4)=7
nsi<| 12 aread = { } 5 n(4d N B)=0 n(C N ((4v B))=4
: area5=1{ & nB N C)=4 n(C U (4 B))=6
area6=1{5,9,12,13} nd v C)=9 n(intersect(4, B, C) ) =15
area7 = {4,10} L n(Bu C)=9 Math@MUT
L area8=1{2,6,8} ]
4w B=1{0,1,3,4,7} 1 =(B = {areal, aread})
) 4N B={1,7} 2=(A4 - B'={area3})
4 B=1{0,1,2,4,5,6,7.8,9,10} 3=((A-B) U (B-A4)={areal, area3})
B nA4={3} 4=(B v C={area2, area3, area4, area5, areab, area7 })
Ans4 = A-B=1{0,4} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B-A= {2,5,6,8,9,10} 6=((4 v B) n (B v C)={areal, area3, area4, areas, area6 })
(4 U B)=1{2,5,6,8,9,10} 7=((4-B) n (4-C)={areal})
A N B= {2,5,6,8,9,10} .8:(A, N B'= {area7, area8 })
| (4-B)=1{1,2,3,5,6,7,8,9,10} | L 9=((B-A4) - C = {area4, area5, area7})

X [Page 0022]
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Set0l Answers for No.12693

areal = {4}

area2— {713, 15) n(4 n B)=3  n(4 U B)=7

Ansl =| .1 = ,.2=| n(4d-B)=1 n(U-(4 v B))=6
area3 = {6,10, 11}
aread = {5,8,9, 12, 14,16} n(B-4)=3 Math@MUT
”mla;ig’f’{li’ 14} n(d N B)=0 n(4duU B)=10
Ans2 = 1= a3 = (3,4,5,6,10,12} [~ Eggj;;z “(UA;%@;JMZ;)T)‘S
aread ={2,7,8,9,13}
[ [ areal = {12} ) |
area? = {2,16} n(intersect(4, B, C))=0 n(d-B)=1
area3 = {3,5,13} n(union(4, B, C)) =10 n(B-A4)=5
ansi<| 1< aread = { } P n(4d N B)=2 n(C N (4 v B))=2
' area5=1{} > n(B N C)=2 n(C U (4N B))=6
area6 = {6, 11} n4d v C)=7 n(intersect( 4, B, C)'): 17
area7 ={1,15} n(Bu C)=9 Math@MUT
L Larea8 = {0,4,7,8,9, 10, 14} | ]
Av B=1{0,1,2,3,4,6,7,8,9,10} i A]:(Brz{area],area4}) )
'A N B={6} .2:(B—A':{area2})
AUB:{132,3,4,5,6,7,8} 3=((A-B)n (B-A)={})
B nA4={00910} 4=(4 n C={area4, aread})
Ans4 = A-B=1{1,2,3,4,7,8} , AnsS = S=(B n (4 v C)={area2, areal, areab})
B —A= {5} 6=((4 N B) U (B n C)={areal, areas, areab })
(4 U B)=1{5} T=((B-4) N (B-C)={area3})
A N B'={5} 8=(B U C'={areal, area2, area3, aread, area’, area8})
L (4-B)=1{0,5,6,9,10} ] L 9=(B N (C-A) = {areal, area4, area8}) ]
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Set0l Answers for No.12705

areal = {3,4,5}

area? ={ } n(4 N B)=0 n(d U B)=9

Ansl =| 1= 2= n(4-B)=3 n(U-(4 U B))=4
area3 = {2,7,10, 12, 13, 14} -
wread 16.8.0.111 n(B-A4)=6 Math@MUT
“re”’;f {{51 18}} n(d nB)=2  n(4uU B)=6
Ans2=| .1 = areas =, 2= n(4-B)=1 n(U-(4 U B))=5

area3=1{3,6,9}

aread = {2,4,7,10,12} n(B-4)=3 Math@MUT
[ areal = {11,14} | 7
area? = {6, 8} n(intersect(A4, B, C))=0 n(4-B)=3
area3 = {5} n(union(4, B, C))=8 n(B-—A4)=2
ansi<| 12 aread = {3} 2o n(4d N B)=2 n(C N (4 v B))=2
' area5=1{} > n(Bn C)=1 n(C U (4N B))=5
area6 = {10} n4 v C)=7 n(intersect(4, B, C)'): 13
area7 = {13} n(Bu C)=6 Math@MUT
L Larea8 = {4,7,9,12, 15} ]
A v B=1{3,4,6,7,8,9,11,12,13} ] [ 1=(4 N B={area2})
40 B={47,8} 2=(B —A={aread})
A v B={3,45728910,14} 3=(A-B) N (B-4)={1})
B A={611,12,13} 4=(A N C={area4, area5})
Ansd = A-B={3,9} . Ans5 = S=(A4 n (B v C)={area2, area4, areal })
B -A= {5,10, 14} 6=((4 N B) U (4 n C)={areal, aread, areal })
(4 v B)': {5, 10, 14} 7=((A-B) U (A-C)={areal, areal, area4})
A~ B'={510, 14} '.8=(C’—A,,= {areal, areal })
L(A—B) =1{4,5,6,7,8,10, 11, 12, 13, 14} L .9=(C n (B-4) = {areal,area2, area8}) |
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Set0l Answers for No.12708

areal = {8, 10}

n(d N B)=4 n(4d U B)=6
Ansl =| 1= am’zzgl_";’?” 2=| n(4-B)=2 n(U(—(A u)B)):S
L _area4aie?0,_2, 3,5,6}] Ln(B-4)=0 Math@MUT i
areal = {3,7,12,13} _n(AﬁB)zl n(A U B)=S8
Ans2=| .1 = areaa;e:aig,{lg,}ll} 2=| n(4-B)=4 n(U-(4 U B))=4
I | aread=1{2.4.5.8) ] L n(B-4)=3 Math@MUT |
[ [areal=1{1,4,7,8,14} | T
area = {17} n(intersect(4, B, C))=0 n(A-B)=6
area3 = {12} n(union(4, B, C)) =12 n(B-—A4)=2
Ansie| 12 aread = {15} . n(4d N B)=1 n(C N (4 v B))=2
area’ = { } i n(B N C)=1 n(C v (4 nB))=6
area6 = {11} n(4 u C)=11 n(intersect(4, B, C)) =17
area7 = {2,5,10} n(Bu C)=7 Math@MUT
L Larea8 = {3,6,9, 13, 16} ]
AU B=1{3,6,7,9,10,13, 14,15} ] i 1=(B = {areal, aread ) ]
’ AN B={} .2:(BV—A:{area4})
A v B={2, ’3,4, 5,8,9,11,12, 15,16} 3=((4 U B)': {aread})
B nA4={6,710,13, 14} 4= (C’: {areal, area2, area3, area8 })
Ans4 = A4-B=13,9,15} , Ans5 = J5=(C n (4 v B)={area4, area$, area6 })
B'-A4=1{2,4,52811,12,16} 6=((4 N C) v (B n C)={aread, area’, areab })
(4 U B)=1{2,4,58,11,12,16} 7=((C-4) n (C-B)={area7})
A N B= {2,4,5,8,11,12,16} A8:(A' U C= {areal, area?, area3, areab, area7, areas })
L(A-B) =1{2,4,5,6,7,8,10, 11, 12, 13, 14, 16 } | L 9=(C N (B-A4) = {areal, area2, area8}) i
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Set0l Answers for No.12709
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areal = {3,5}
area? = {7
Anst=|.1= area3:{2,8;{lg,ll} o
area4 =1{0,1,4,6,9}
areal = {4,7,9}
area? = {3,6, 11
Ans2 =| .1 = areaSi{Z,S} ; .
area4 = {1,8,10}
[ [ areal = {0,6} ]
area2 = {11, 15}
area3 = {3}
area4={4,5,9}
Ans3 =| .1 = areas=1{ } , .2 =
areab = { }
area7 ={1,7,12}
L Larea8 = {2, 8,10, 13, 14} |
i AU B={1,2,4509,11}
AN B={2}
AU B=1{0,23,4,678,09, 10, 11,12}
BnA={1,5}

A-B=1{49,11}
B -4=1{0,3,6,7,8,10,12}
(4 U B)=1{0,3,6,7,8,10, 12}
A4 n B'={0,3,6,7,8,10,12}
| (4-B)={0,1,2,3,5,6,7,8,10,12} |

Ans4 =

>

n(d4d N B)=1 n(4 v B)=7
2= n(4d-B)=2 n(U-(4 v B))=5
n(B-4)=4 Math@MUT
n(4d N B)=3 n(4d u B)=8
2= n(4-B)=3 n(U-(4 v B))=3
nB-A4)=2 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=5
n(union(4, B, C)) =11 n(B-4)=1

n(4 N B)=2 n(C N (4 v B))=3
n(B N C)=0 n(C U (4 N B))=8
n(4 v C)=10 n(intersect( A4, B, C)/) =16
n(Bu C)=9 Math@MUT

.]=(B'= {areal, aread })
.2=(B'—A'= {areal })
3=((A-B) U (B—A4)={areal, area3})
4=(A N B={area2,areal})

S5=(4 n (B v C)={area2, aread, areas})
6=((4 N B) U (4 n C)={areal, aread, areal })
7=(A4-B) U (A-C)={areal, area2, aread})
.8=(B’ N C= {areal, area8})
9=((B- C)'—A = {areab, area’, area8})

Ans5 =
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Set0l Answers for No.12718

areal = {5,11,12,13} ‘n(d A B)=2 n(A U B)=9
dnsl=| 1= ai22“32:{{29’7108}} 22| n(A-B)=4 n(U—(4d U B))=3
I | aread— {3:4:6} ] L n(B-4)=3 Math@MUT ]
areal = {3, 4,8} (4 A B)=2  n(4 U B)=1
Ans2=| 1= Z:ZZ:;Zi ,.2=| n(4-B)=3 n(U-(4 U B))=4
L lareas= (9,10, 11,123]  -rB-A=2 Math@MUT |
[ areal = {6, 8} ) ]
area = { } n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {5, 16, 18} n(union(4, B, C)) =12 nB-A4)=4
ns3=| 12 aread = {19} 2e n(d N B)=0 n(C N (4 v B))=2
’ areas=1{ } . n(B N C)=1 n(Cu (4 nB))=7
area6 = {7} n(4d U C)=9 n(intersect(4, B, C)) =17
area7 =1{3,4,9,14,17} n(B v C)=10 Math@MUT
L Larea8 = {10, 11,12, 13, 15} | i
A v B=1{4,6,7,9,11,12,13,15,16} i 1= (A = {area3, aread }) 7
, 4N B={12} 2=(B -4 ={areal })
A v B={3,56,7,8,10,12,13, 14, 15,16, 17} 3=((A-B) U (B-A4)={areal, area3})
Bnd= 149,11} 4=(B v C={area2, area3, aread, areal, areab, area?7 })
Ans4 = 4-B={6,7,13,15,16} , AnsS = S=(4 n (B v C)={area2, area4, area5 })
B -A= {3,5,8,10,14, 17} 6=((4 N B) U (4 n C)={areal, aread, area’s })
(4 v B)': {3,5,8,10, 14,17} 7=((B-4) v (B-C)={area2, area3, areab })
A~ B'=1{3,528,10,14,17} 8=(A4' - C = {area6, area7})
L (A—B)':{3,4, 5,8,9,10,11,12,14,17} | L 9=(B N (C—A)’:{areaZ,areaS, areal}) |
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Set0l Answers for No.12720
areal = {2,4,7,13}

area2 = 110,12} n(d4d N B)=2 n(d4d v B)=7

Ansl =| .1 = areai = 6 ,.2=| n(4-B)=4 n(U-(4 U B))=6
aread = {3, 5, 8,{9,}11, 14} n(B-4)=1 Math@MUT
areal = {1,2,5,8,9} nA ~ B)=1 n(A U B)=S8
Ans2=| .1 = ar:;j“j{zlffl}l} 2= n(4-B)=5 n(U-(4 U B))=3
aread = {3,4.7} n(B-4)=2 Math@MUT
[ areal = {3,6} i |
area? = {9, 10, 12} n(intersect(4, B, C)) =1 n(4A-B)=3
area3 = {14} n(union(4, B, C)) =10 n(B-4)=2
ansi<| 12 aread = {11} e n(4d N B)=4 n(CnNn(4uvB))=3
area5 = {13} ’ n(BnN C)=2 n(C v (4 n B))=7
areab = {2} n(4 v C)=9 n(intersect(4, B, C)'):14
area7 = {1} n(Bu C)=8 Math@MUT
L Larea8 = {4,5,7,8,15}] ]
AU B={1,2,3,4,506,11,12} | [ A=(4 N B={area2}) i
AN B={2,511} 2=(A - B ={area3})
A v B={1,2, '5, 7,8,9,10, 11,12} 3=((4 U B) = {aread})
BN A={346} .4=(A’= {area3, areab, area7, area8 })
Ans4 = 4-B={1,12} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area$, area6 })
B-A= {7,8,9,10} 6=((4 v B) n (4 v C)={areal, area2, area4, area’, area6 })
(4 U B)=1{7,8,9,10} 7=((B-A4) n (B-C)={area3})
A N B=1{7,8910} 8=(C' - B = {area2, area3})
[(4-B)=1{2,3,4,5,6,7,8,9,10, 11} L 9=((B-A4) —C={areal, area2, area8}) i
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Set0l Answers for No.12726

areal ={2,6,9,12} _n(AmB):Z nA U B)=7
Ansl =| 1= “re“Z;_{';’;? 2= n(4-B)=4 n(U-(4 U B))=4
L _areaj}:?S,_S, 10,11y -ME-D=1 Math@MUT |
areal = {5,8,9} n(4 A B)=3  n(4 U B)=10
Ans2=| .1 = arizzai?;,zé,“l’ol,ii} L 2=| n(4-B)=3 n(U—-(4 U B))=4
L laread=1{1,7,12,14y] -nB-A=4 Math@MUT ]|
[ areal = {7} ) i
area2 = {11,15} n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {3,4} n(union(4, B, C)) =11 nB-A4)=4
ns3=| 12 aread = {12} . n(4d N B)=3 n(C N (4uv B))=4
aread = {9} i n(B N C)=3 n(Cu (4 nB))=8
area6 = {1, 14} nd4 U C)=9 n(intersect(4, B, C)) = 15
area7 ={2,6} n(B u C)=10 Math@MUT
L Larea8 = {0, 5, 8, 10, 13 } ]
I A v B={0,7,8,10,11, 12} i i A=(4A N B={area2}) )
. AN B=10,10} 2=(A-B'={area2})
Avu B={0,1,2,3,45,6,7,9,10} 3=((4 U B) = {aread})
Bnd= 18, 11,12} 4=(4 v B={areal, area2, area3, aread, areal, areab } )
Ans4 = A-B={7} , Ans5 = S5=(C v (A n B)={area2, area4, areal, areab, area?7})
B—4= {1,2,3,4,5,6,9} 6=((4 Y C) n (B v C)={area2, aread, area5, areab, area7 })
(4 v B)': {1,2,3,4,5,6,9} 7=((C—-4) v (C-B)={aread, areab, area7 })
A N B= {1,2,3,4,5,6,9} ,8=(A’ N C= {area3, area8 })
_(A—B)':{O, 1,2,3,4,5,6,8,9,10, 11, 12} | L .9:((A—B)’—C:{area2, area3, area8}) i
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Set0l Answers for No.12758

areal = {4, 8,10, 12, 14} W4 A B)=1 a(d U B)=10

Ansl=| .1 = areairf“é:éi}u} 2= n(4-B)=5 n(U-(4 U B))=1
wread o t13) n(B-A)=4 Math@MUT
area]zi{{ls,lll‘l}} n(4 A B)=2 n(4 U B)=9
Ans2=|.1=| et 2=l n(4-B)=2 n(U—-(4 U B))=3

area3=1{3,4,5,7,8} "

areat— (9, 10,12} nB-A4)=5 Math@MUT
[ [areal ={4,5,6,8,15}] |
area = { } n(intersect(4, B, C)) =2 n(4-B)=5
area3 ={ } n(union(4, B, C)) =11 n(B-4)=1
nsi=| 1= aread = { } . n(4d N B)=2 n(C N (4 VU B)=3
' area5=1{7,10} . n(B N C)=3 n(Cu (4 n B))=6
areab = {9} n(4 v C)=11 n(intersect(4, B, C)) =12
area7 = {11,12,14} n(Bu C)=6 Math@MUT
L L area8={13,16,17} | ]
AU B=1{4,6,11,12,13,14,16,17} | [ 1 =(A v B={areal, area2, area3 })
o A0 B={13} 2=(4'~B = {area3})
4 v B=1{4,5728,9,10,1113, 15,17} 3=0((4 n B)'= {areal, area3, area4 })
Bnd= 16,12, 14,16} 4=(A v B={areal, area2, area3, area4, area$, area6 })
Ans4 = A-B={4,11,17} , Ans5 = S5=(C n (A4 v B)={area4, area$, area6})
B —d= {5,7,8,9,10, 15} O6=((4 N C) v (B n C)={aread, areas, areab })
(4 v B)': {5,7,8,9,10,15} 7=((B—-A4) U (B-C)={area2, area3, areab })
A N B=1{51718,91015} 8=(B n C'={areal, area8})
L(4-B) =1{5,6,7,8,9, 10, 12, 13, 14, 15, 16 } | L 9=((B-A4) - C = {aread, area$, area7}) _
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Set0l Answers for No.13127

areal = {10, 13,15}

area? = {4} n(4d N B)=1 n(d U B)=6

Ansl =| .1 = 2= n(4-B)=3 n(U-(4 U B))=7
area3 = {11,14} _
aread=1{5,6,7,8,9,12, 16} n(B-4)=2 Math@MUT
”re”1:234}?61?;§5} n(d nB)=2  n(du B)=7
Ans2=|.1=| e L 2=| n(4-B)=4 n(U-(4 U B))=5

area3 = {6}

aread = {5,7,8, 11, 14} n(B-4)=1 Math@MUT
[ areal = {1,5,11} | i
area2 = {6,12} n(intersect(4, B, C)) =1 n(4-B)=4
area3={17,8} n(union(4, B, C))=13 n(B-4)=2
ns3=| 1= aread = {16} . n(4 N B)=3 n(C N (4uv B))=2
' area’ = {14} . nB N C)=1 n(Cu (4 n B)=38
areab={ } n(4 v C)=11 n(intersect(4, B, C) ) =17
area7 = {0, 10, 13,17} n(B v C)=10 Math@MUT
L Larea8 = {2,3,4,9,15}] ]
4w B=11,3,4,5,6,8} .1=(B/:{area],area4})
, A0 B={48] 2=(B -4 ={areal })
4w B=10,1,2,3,4,6789,10} 3=((A-B) U (B-A)={areal, area3})
B nA4={5} 4=(B v C={area2, area3, area4, area5, areab, area7 })
Ans4 = A-B=1{1,3,6} , Ans5 = S=(B n (4 v C)={area2, areal, areab })
B —A= {0,2,7,9,10} 6=((4 N B) U (B n C)={areal, areas, areab })
(4 v B)':{O, 2,7,9,10} 7=((C—-4) v (C-B)={aread, areab, area7 })
A N B':{O,Z, 7,9,10} .8=(C’—A':{area],area2})
L (A—B)':{0,2,4, 5,7,8,9,10} | L 9=(B N (A—C)/:{area3,area5,area6}) i
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Set0l Answers for No.13628

areal = {6,11,12} nA ~ B)=1 n(4 U B)=9

dnsl=| 1= arm;f;‘ij’{;}l oy | 25| MA=B)=3 n(U-(4 U B))=2
aread = (8,9} n(B-4)=5 Math@MUT
areal = {6,13, 14} nA ~ B)=2 n(A U B)=6
Ans2=| 1= “ZerZ;:_{?’sg}} 2= n(4-B)=3 n(U-(4 U B))=6
aread = {4,7,8,10, 11,12} nB-A)=1 Math@MuT
[ areal = {1,7,16} i l
area? = {15} n(intersect(4, B, C)) =0 n(4-B)=5
area3 = {5} n(union(4, B, C)) =12 n(B-A4)=2
ansi<| 1< aread = {3,9} . n(4d N B)=1 n(CnNn (40 B))=3
areas = { } ’ n(BnC)=1 n(Cu (4N B))=8
area6 = {13} n(4 u C)=11 n(intersect(4, B, C)) = 18
area7 = {0,2,4,10} n(Bu C)=9 Math@MUT
L Larea8 = {6,8, 11,12, 14,17} ] ]
AU B=1{6,7,811,12,13,14,16} i 1 =(B = {areal, aread}) ]
, 4 n B={12} 2=(4'-B = {area3})
A v B={4,5,6, 9,le, 11,12, 14, 15,16, 17} 3=((4 N B) = {areal, area3, aread })
BnA4={72813} 4=(4 N C={area4, aread})
Ansd = A-B={6,11,14,16} , Ans5 = S5=(C n (4 v B)={area4, area’, areab })
B—4A= {4,5,9,10, 15,17} O6=((4 N C) v (B n C)={aread, areal, areab})
(4 U B)=1{4,5,9,10,15,17} 7=((C—-4) n (C-B)={area7})
A N B= {4,5,9,10,15,17} 8=(4 U B'= {areal, area3, area4, area6, area7, area8 })
| (4-B)={4,5,7,8,9,10,12,13,15,17} | L 9=(C N (4-B) = {area2, area3, area8}) ]
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Set0l Answers for No.13652

‘”2“11:0{3}9 nd N B)=3 n(duU B)=6
Ansl =| 1= a“:;;:‘{{l’é’w}} 2= n(4-B)=0 n(U-(4 U B))=7
aread=1{2,4,5,7,8, 11,12} n(B-4)=3 Math@MUT
areal = {1,5,6,9} nd nB)y=1 n(4du B)=11
Ans2=| 1= areal = {11} 2=| n(4-B)=4 n(U-(4 U B))=4
area3=1{3,7,8,10,12, 14} n(B-d)=6 Math@MUT
aread4 ={0,2,4,13}
[ [ areal = {1} ] ]
area = { } n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {6,9,12, 14} n(union(4, B, C)) =12 n(B-4)=5
nsi<| 1< aread = {16} I n(4d N B)=1 n(C N (4 v B))=3
' area5 = {17} - n(B N C)=2 n(Cu (4N B)=7
areab = {5} n(4 v C)=38 n(intersect(4, B, C) )= 16
area7 ={3,4,7,10} n(B v C)=11 Math@MUT
L Larea8 = {2,8, 11,13, 15} ] i
4 v B=1{1,2,3580911} [ 1=(A N B={area2}) i
/ 4N B=1{39; 2=(4'-B'={area3})
Av B={1,3,46,7,9,10,12,13, 14} 3=((A-B)n (B-A)={})
BN A= {2,5,8, 11} 4=(B v C={area2, area3, area4, areal, area6, area?7 })
Ansd = A-B={1} . Ans5 = S5=(C U (A n B)={area2, area4, areas, area6, area?7 })
B-A= {4,6,7,10,12,13, 14} 6=((4 v C) n (B U C)={area2, aread, areas, areab, area7 } )
(4 U B)=1{4,6,7,10,12,13, 14} J=((B-4) N (B-C)={area3})
A N B= {4,6,7,10, 12,13, 14} 8= (B’ U C'= {areal, area2, area3, area4, area7, area8})
[(A-B)=1{2,3,4,5,6,7,8,9,10, 11,12, 13, 14} | L 9=(4 N (C-B) = {areal, area2, areaS}) _
P QNP EREIIE K] JID'0'0'01010:0:0:0:0:0:0.010:0:0:0:0.0.0.0.0:0:0:0:0:0.0.0.10:0.0:0:0:0.0.0.0.0.0.0:0.0.0.0.0.010.0.00:0.0.0.0:0.0.0:0.0:0.0.0.0.0.:0:0:00:0.0.0.0.0:0:0.0:0.0.0.0.0'0.:0:00:0.0.0.0'0'0:0.0:0:0.0.0.0.0'0:0:00.0.0.0:0'0:0:0:0.0.0.0'0'0:0:0:0:0.0.0.0'0'0:0:0:0:0.0.0'0.0'
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Set0l Answers for No.13707
areal = {6,8,9}

areal = {4} n(4d N B)=1 n(d4d U B)=6

Ansl =| .1 = 2= n(4-B)=3 n(U-(4 U B))=6
area3 ={7,11} _
aread = {1,2,3, 5,10, 12} n(B-4)=2 Math@MUT
“’6‘2{:{22’698}} n(d n B)=3  n(4d U B)=9
Ans2=| .1=| =m0 2=| n(4-B)=2 n(U-(4 U B))=4

area3={1,7,11,12} [~

area4 = {3,5,10,13} n(B-4)=4 Math@MUT
i areal = {0, 1, 14} i 1
area? = {3,9} n(intersect(A4, B, C))=0 n(d-B)=5
area3 = {10,12} n(union(4, B, C)) =10 n(B-—A4)=2
ns3=| 12 aread = {4,5} 2o n(4d N B)=2 n(C N (4 v B))=2
' area5=1{} > n(B N C)=0 n(C U (4N B))=5
area6={ } n(d4d v C)=8 n(intersect(4, B, C)) = 15
area7 = {6} n(Bu C)=7 Math@MUT
L Larea8 ={2,7,8,11, 13 }] ]
4w B={0,1,2,3,4,56,7,10} I AI:(sz{area3,area4}) 1
/A N B=10,4} 2=(A4' - B={aread})
4 v B={0, f" 5,6,7,8,9,10} 3=((4 N B) = {areal, area3, aread })
BnA={123} 4=(B v C={area2, area3, aread, areal, areab, area? })
Ansd = A4-B={5,6,7,10} , AnsS5 = S=(B v (4 n C)={area2, area3, aread, area5, area6 })
B -A= {8,9} 6=((A4 U B) n (B v C)={areal, area3, aread, areal, areab })
(4 v B)’: {8,9} 7=((A-B) U (A-C)={areal, area2, aread })
A N B={8,9} 8=(C -4 = {areal, areal})
L (A—B)':{0,1,2,3,4, 8,9} L .9:((A—B),—C:{areaZ,area3,area8}) ]
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Set0l Answers for No.644201
areal = {8, 12}

area2 = {5,11} n(4 N B)=2 n(4d U B)=17

Ansi=| d=| e a4y P27 MA-B)=2 n(U=(4 L B))=6
aread =12,3,6,7,9, 13} n(B-4)=3 Math@MUT
areal = {6} n(4 A B)=2  n(4 U B)=8
Ans2=| .1 = area‘;ri“f;{gg”llol}; 12y 2= MA=B)=1 n(U=(4 U B)=3
areat— {2, 3.4) nB-A)=5 Math@MUT
[ areal = {2,6} ] ~ ]
area = {12} n(intersect(4, B, C)) =0 n(4A-B)=2
area3 ={5,8, 11, 13} n(union(4, B, C)) =11 n(B-A)=4
aread =1{ } n(d4 N B)=1 n(C A (4 U B))=0
Ans3 =| .1 = ,.2=
area’ = { } n(B N C)=0 n(C v (4 nB))=5
area6={ } nd U C)=7 n(intersect(4, B, C) )= 15
area7 = {3,4,9, 14} L n(Bu C)=9 Math@MUT
L Larea8 = {7, 10, 15, 16 } | i
[ 40 B=1{5,6,7,9,10,11,12,15} | r 1=(4 A B={area2}) 7
’ A N B={15} 2=(B—-A={area3})
A v B=1{4,58,10,11,13,14,15} 3=((4 v B) = {aread})
BN A={670912} A4=(4 n C={aread, area5})
Ans4 = A-B={5,10,11} . AnsS = S5=(C U (4 n B)={area2, area4, area5, areab, area?7})
B-A= {4,8,13,14} 6=((4 v C) n (B U C)={area2, aread, areas, areab, area?7 } )
(4 U B) =1{4,8,13,14} 7=((4-B) N (4-C)={areal })
A N B = (4,8,13, 14} .8:(A, N B'= {area7, area8})
(4-B)=14,6,7,8,9,12, 13, 14,15} | i 9=((C-4) - B={areal, areat, area8}) |
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Set0l Answers for No.644202

areal = {4,5,9,14}

[(A-B)=1{1,2,3,5,6,7,8,9,10, 12, 13}
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

B -A4={1,5,6,12}
(4 U B)=1{1,5,6,12}
A4~ B={1,56,12}

rea2— (6 n(4 N B)=1 n(4uU B)=10
Ansl=| .1 = am;?; 3.7 00,131 [ 25| A-B) =4 n(U=(4 L B)=3
aread = {8, 11,12} n(B-4)=5 Math@MUT
“re“];fi’oasg’;?} n(4 N B)=3 n(d4duU B)=8
Ans2=| .1 = “’iie;j_’{“’} L 2=| n(4-B)=4 n(U-(4 U B))=6
aread = {1,2,8, 11,12, 13} n(B-4)=1 Math@MUT
[ [areal={1,3,6,7,10,16}] |
areal = {5} n(intersect(4, B, C)) =0 n(4A-B)=6
area3 ={0,2,4,14} n(union(4, B, C)) =15 n(B-A4)=4
aread = { } n(4 N B)=1 n(C N (4uvB))=0
Ans3=| .1 = ,.2=
area’ = { } n(B N C)=0 n(Cu (4 nB))=5
areab = { } n(4 u C)=11 n(intersect(4, B, C)) =17
area7 ={8,9, 11,13} n(B v C)=9 Math@MUT
L L area8 = {12,15} ]
Av B=1{2,3,4,7,8,9,10, 11,13} i .1:(B’:{areal,area4})
,AmB:{8’9} 2=(B—-A={area3})
4 v B={1,45,6189,11,12} 3=(4-B)n (B-4)={1})
B nA4={23,710,13} 4=(A n B={area2, area5})
A-B={4,11} , Ans5 = S=(B n (4 v C)={area2, areal, areab})

6=((4 N B) U (B n C)={areal, areas, area6 })
J=((B-4) n (B-C)={area3})
8=(A - B = {area3, area6})
L .9:((C—B)’—A'={area1, area?, areal })
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Set0l Answers for No.644203

Ans4 =

[Page 0037]

areal ={9} nd N B)=3 n(duU B)=6
Ansl =| 1= “rjjj;fs{’f’glf} 2= n(4-B)=1 n(U-(4 U B))=5
aread = {7,10,11, 12, 13} n(B-4)=2 Math@MUT
areal = {11} n(d N B)=5  n(4d U B)=6
Ans2=| .1 = “reaZ:ajja’;’_lf’}M’ Bh | 2ol n(4-B)=1 n(U-(4 U B))=8
aread = {4,5,7,8,9,12,13, 16} n(B-4)=0 Math@MUT
[ areal = {12} ) |
area? ={ } n(intersect(4, B, C)) =2 n(4d-B)=1
area3 = {5, 10, 14} n(union(4, B, C)) =11 n(B—A)=4
nsi<| 12 aread = { } e nd N B)=2 n(C n (4 v B))=3
area5 = {2,7} ’ n(B N C)=3 n(Cu (4 n B))=7
areab= {16} n(d v C)=8 n(intersect(4, B, C)) = 13
area7 = {3,4,6,13} n(B u C)=10 Math@MUT
L Larea8 = {8,9, 11, 15} ]
(4 U B=1{3,4,5,6,7,9,10,11, 13, 14} | i 1=(4 N B={area2})
40 B=1{9,11, 14} 2=(A-B={areal })
AU B=1{3428091011,12, 13,14} 3=(4 A B = {arcad})
Bn A= {5,6,7} A4=(B v C={area2, area3, area4, areal, areab, area7 })
A-B=1{3,4,10,13} , Ans5 = S=(4 v (B n C)={areal, areal, aread, area5, area6 })

B —A={8,12}
(4 U B)=1{8,12}
A~ B={8,12}

(A-B)=1{5,6,7,8,9, 11,12, 14}

6=((4 U B) n (4 v C)={areal, area2, area4, areal, area6 })
7=((A-B) N (A-C)={areal })
.8:(C,—A’= {areal, area?})
.9=((B—A)’—C: {areal, area2, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.644204

areal = {8,9, 14}

X

Ans4 =

n(4 N B)=0 n(d U B)=7
Ansl =| 1= area = { } 2=| n(4-B)=3 n(U-(4 U B))=6
area3 =14, 6, 11, 12} n(B-A)=4 Math@MUT
aread4 =1{3,5,7,10,13, 15}
areal = {1, 10} n(d N B)=3  n(4uU B)=6
Ans2=| .1 = “’“’2:3{_6’{2’}9} 2= n(4-B)=2 n(U-(4 U B))=5
ma;‘rj 023,471 n(B-A)=1 Math@MUT
[ [ areal = { } i
area? = {15} n(intersect(4, B, C)) =0 n(4-B)=2
area3 = {6,12, 18} n(union(4, B, C)) =11 nB-A4)=5
sl 1o aread = 5,9} 5 n4d n B)=1 n(C N (4 U B))=4
' area5=1{} e n(B N C)=2 n(Cu (4N B))=8
area6= {4, 14} n(d U C)=38 n(intersect(4, B, C)) =17
area7 = {3,16, 17} n(B v C)=11 Math@MUT
| larea8=1{7,8,10,11,13,19} ] j
(4 U B=1{3,4,6,7,8,9,10,12, 13,14, 16} | I

AN B={16}

AU B=1{3,56,778911,12, 15 16}
B N A'=1{410,13, 14}
A-B=1{3,6,7,8,9,12}

B —A={5,11,15}
(4 U B)=1{511,15}

[Page =

0038]

A~ B={511,15}
(4-B) =1{4,5,10,11,13,14,15,16}

, Ans5 =

A= (A': {area3, aread })
.2=(A'—B': {area3})
3=(4 N B'={aread})
4=(A n B={area2, area5})

S5=(C U (4 n B)={area2, area4, area$, areab, area?7 })
O6=((4 v C) n (B v C)={area2, aread, areas, areab, area?7 } )
7=((B-4) n (B-C)={area3})

8= (A'—Brz {area3, areab })

9=(B N (A-C) = {aread, area7, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.644205

areal = {6,13,15}
area? = {7}
area3 = {10, 11}
aread = {3,4,5,8,9,12,14}

n(4 N B)=1 n(4 U B)=6
,2=| n(4-B)=3 n(U-(4 U B))=7
n(B-A)=2 Math@MUT

Ansl =| .1 =

areal ={0,9} n(d N B)=5  n(4 U B)=8
Ans2=| .1 = area2:{32,_4,{§,}6,7} ,.2=| n(4-B)=2 n(U-(4 U B))=3
et (1.8.10} n(B-4)=1 Math@MUT
[ [ areal=1{4,6,10,13} | ]
area? = {0, 16} n(intersect(A4, B, C)) =0 n(4d-B)=35
area3={2,11} n(union(4, B, C)) =11 n(B-A4)=2
s | 1 aread = {14} 5 n(4 N B)=2 n(C (40U B)=1
’ area5=1{} > n(B N C)=0 n(C U (4 N B))=5
area6 = { } n(d U C)=9 n(intersect(4, B, C)) =17
area7 = {12, 15} n(B v C)=7 Math@MUT
L Larea8={1,3,5,7,8,9} ]
A v B={0,2,3,5,6,7,8,9,12} i 1=(4 N B={area2}) )
4N B={6} 2=(B-A={area3})
A4 U B=1{0,1,45,6,7,8,910,11,12, 13, 14} 3=(4 A B = {aread})
BN A={23} 4=(4 v C={areal, area2, aread, area’, area6, area’7 })
Ans4 = A-B=1{0,57,8,9,12} . Ans5 = S=(B n (4 v C)={area2, areal, areab})
B-A= {1,4,10, 11, 13, 14} 6=((4 N B) U (B n C)={area2, areas, area6})
(4 U B)=1{1,4,10,11,13, 14} T=((A-B) N (4-C)={areal })
A~ B'={1,4,10,11,13, 14} 8=(A4" U C={areal, area2, area3, areab, area’, area8})
L (4-B)=1{1,2,3,4,6,10,11,13, 14} ] L 9=((B-C) - A= {areab, area7, area8}) _
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Set0l Answers for No.644206

areal ={2,3,5,10}

area2 = {13} n(4 N B)=1 n(4d U B)=8

Ansl=| .1= L 2=| n(4-B)=4 n(U-(4 U B))=5
areifi3{4,{86,’97,’1121,}14} n(B-4)=3 Math@MUT
areal = {6,7, 10} n(4d nB)=0  n(4duU B)=9
Ans2=| 1= areal ={ } ,.2=| n(4-B)=3 n(U-(4 U B))=5
area3 =1{4,5,11,12,14,17}
aread = (8,9, 13, 15, 16} n(B-4)=6 Math@MUT
[ [areal = {5,10,15,17}] T
area? = {3} n(intersect(4, B, C)) =1 n(4A-B)=5
area3 = {4,6,9, 14} n(union(4, B, C)) =12 n(B-A)=4
szl 1o aread = {16} S n(4 ~ B)=2 n(C (40U B))=2
' area5=1{7} - n(B N C)=1 n(Cu (4N B))=4
area6 = { } n(d U C)=38 n(intersect(4, B, C)) = 15
area7 = {13} n(Bu C)=8 Math@MUT
L L area8=1{2,8,11,12} | ]
A v B=1{4,5,6,7,8,10,11,13,16} 1 :(A': {area3, aread})
4N B=1{4,8} 2=(B-A={area3})
A U B'=1{4,6,728,910,11,12, 14, 15, 16} 3=((4 U B) = {aread})
B nA4={513} .4:(A,= {area3, areab, area7, area8 })
Ans4 = 4-B={6,7,10,11,16} , Ans5 = S=(B v (4 n C)={area2, area3, aread, areas, area6 })
B-A= {9,12,14, 15} 6=((4 v B) n (B v C)={areal, area3, aread, area’, areat6 })
(4 U B)=1{9,12, 14,15} 7=((B-A4) N (B-C)={area3})
A~ B'={9,12, 14,15} 8=(A4' - C = {area6, area7})
| (4-B)=1{4,5,8,9,12,13,14,15} | L 9=((C-B) —A'={areal, area2, area5}) ]

X [Page = 0040] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXKKXKXKXKXXKXKXKXKXKXKKXKXKKKXKKXKXKKKXKKXKKKKKXKKKKKXKXKKXKKKXKKKXKKKKK KK KK KKK KK KK KKK KK KK KKK KKK KKK KKK KK KKK KK KKK



DGRV ERRNCIVIVEND’0:9:6:0.0:0:0.6:0:0.0:0:0°0.:0.0:0:0:0:0.0:0.0.0:0.0:0:0.0:0.0.0:0.0°0:0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0.0:0.00.0.0:0.0:0:0.60.0.0:0.0:0:0.0:0.0:0:0.0.0.0.0.0.0:0:0.6°0.0.0:0.:0.0.0:0.0:0:0.0:0.0.0:0.0:0.0.0:0.0.0:0.0:0.0.0:0.0:6:0.0 ¢ | : WA B T L N NO N RO I Lo I/ D794
Set0l Answers for No.644207

area1:<{22i4,35, 10} nA A B)=1 n(4 U B)=8
Ansl =| 1= arefgi {‘1’{7’}11} 2= n(4-B)=4 n(U-(4 U B))=3
aread = {6.8,9 n(B-4)=3 Math@MUT |
“Ve"];{l?’;l} n(d N B)=2  n(duU B)=9
Ans2=| 1= area?ria{2j3{, i 6}! 12y [ 2= MA-B)=2 n(U=(4 U B)=3
areat— (57,8} n(B-A4)=5 Math@MUT
i areal = {16} ) i
area2=1{5,6} [n(intersect(4, B, C)) =0 n(4-B)=1
area3 ={2,15} n(union(4, B, C)) =10 n(B-4)=5
ns3=| 17— aread ={ } . n(4d N B)=2 n(C N (4uv B))=3
' area5=1{} > n(B N C)=3 n(Cu (4N B)=7
area6 = {1,10, 13} n4 v C)=8 n(intersect( 4, B, C)'): 16
area7 = {3,12} L n(Bu C)=9 Math@MUT
L Larea8 = {4,7,8,9, 11, 14} ]
4w B={1,2,4,13,14,15} AI:(Brz{areal,area4})
- 4AnB={1314} 2=(Ad-B={areal})
4 v B={23,5, 6”7’ 8,9,10,11, 12,13, 14} 3 :(A' U B= {areal, area3, area4 })
B n4={1415} 4=(B v C={area2, area3, area4, areal, areab, area7 })
Ans4 = A-B=1{2} , AnsS = S5=(C v (A4 n B)={area2, area4, areal, areab, area?7})
B-A= {3,5,6,7,8,9,10, 11, 12} 6=((4 v C) N (B v C)={area2, aread, areas, areab, area7 })
(4 v B)': {3,5,6,7,8,9,10, 11, 12} 7=(B—-4) v (B-C)={area2, area3, areab })
A N B = {3,5,6,7,8,9,10,11, 12} .8=(A’ U B'= {areal, area3, area4, areab, area’, aread8 } )
l(A-B)=1{1,3,4,5,6,7,8,9,10, 11, 12, 13, 14, 15} | L 9=((B-C) — A= {areab, area’7, area8}) ]
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Set0l Answers for No.644208

Ans4 =

[Page 0042]

areal ={0,1,6,7}

! nd N B)=2  n(4duU B)=9
Ansl =| 1= ai22“32_‘{{23‘4“8}} 2=| n(4-B)=4 n(U-(4 U B))=3
aread = (5.9, 10} n(B-4)=3 Math@MUT
areal = {63 1,0’{;3’91}5’ 163 n(4d N B)=2 n(4uU B)=10
Ans2=| 1= ar;‘;;“_ {‘4 1ay 2= nA-BI=5 a(U-(4 v B))=4
wreat—(3.5,7.12) n(B-A)=3 Math@MUT
[ areal = {17} ] ]
area? = {18} n(intersect(4, B, C)) =0 n(4A-B)=2
area3 = {13,161 n(union(4, B, C)) =11 n(B-A4)=3
P aread = {6} 5 n(4d N B)=1 n(C N (4 U B))=2
=T areaS=1{ } Pl = n(B N C)=1 n(C U (4 A B))=8
areab = {3} n(4 v C)=9 n(intersect(4, B, C) )= 16
area7 =1{4,7,9, 10, 14} n(B v C)=10 Math@MUT
L Larea8 = {5,8, 11,12, 15} | i
I AU B=1{50613,14,15,17, 18} i 1=(4 N B={area2})
’ A B={14,17} 2=(A'-B ={area3})
A v B=1{4,5717,8,9,10,11, 12,14, 15,16, 17, 18} 3=((4 U B)': {aread})
B ﬁA’:{Q 13} 4=(4 N B={area2, area5})
A-B=1{5,15,18} , AnsS = S=(4 v (B n C)={areal, areal, aread, area5, area6 })

B —A=1{4,7,8,9,10,11,12,16}
(4 U B)=1{4,7,8,9,10,11,12,16}
A~ B'={4,7,8,9,10,11,12, 16}

L (4-B)=1{4,6,7,8,9,10,11, 12, 13, 14,16, 17} |

6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areat } )
7=((C—-4) v (C-B)={area4, areab, area7 })
.8:(C,—A’= {areal, area?})
.9:(A' N (C—B)’: {area3, area6, area8 })

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.644209
areal = {8,9, 13}

areal = {3} n(d N B)=1 n(d4d U B)=6

Ansl =| .1 = ,.2=| n(4-B)=3 n(U-(4 U B))=5
area3 ={7,10} _
aread = {4,5,6,11,12} n(B-4)=2 Math@MUT
“’6“12:7{{7’3?} n(d nB)=1 n(4duU B)=6
Ans2=| 1= areaz= 2= n(4-B)=2 n(U-(4 U B))=9

area3 =1{6,14,17}

aread = {4,5,9, 10,11, 12, 13, 15, 16} n(B-4)=3 Math@MUT
[ i areal = {6, 18} ] 1
areal = {2} n(intersect(4, B, C)) =0 n(4A-B)=3
area3 = {14} n(union(4, B, C)) =10 n(B-4)=2
nsi=| 1= aread = {5} . n(4 N B)=1 n(C N (4 U B))=2
' area5=1{} e n(B N C)=1 n(Cu (4N B)=7
area6 = {4} nd4 U C)=9 n(intersect(4, B, C)) =17
area7 ={9,11,12,16} n(Bu C)=8 Math@MUT
L Larea8 = {3,7,8,10, 13,15, 17} ]
A v B={3,9,11,12,15} [ 1=(4 N B={area2}) 1
, AN B={11,15} 2=(A-B={aread})
A v B=1{3,45,6,7,8,10,11,12,13, 14,15} 3=(4 N B'={areas})
BﬁA'={9} 4=(B n C={area5, areab})
Ans4 = A-B={3,12} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B-A= {4,5,6,7,8,10,13, 14} 6=((4 v B) nn (4 v C)={areal, area?, area4, area’, area6 })
(4 v B)': {4,5,6,7,8,10,13, 14} 7=((4-B) U (A-C)={areal, area2, area4})
A N B = {4,5,6,7,8,10,13, 14} 8= (A' U B'= {areal, area3, area4, areab, area?7, area8 })
L (A—B)':{4,5,6,7, 8,9,10,11,13,14,15} | L .9:((A—C)'—B:{area4,area7,area8}) i
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Set0l Answers for No.644210

areal = {3,6,10, 13}

area? = {1,4} n(4 N B)=2 n(4 U B)=8

Ansl =| .1 = ,.2=| n(Ad-B)=4 n(U-(4 U B))=5
are:f:“iz‘, 2971? " n(B-A4)=2 Math@MUT
areal = {11} n(d N B)=3  n(4 U B)=8
Ans2 =| 1= af;j;’i:{{f;;g} 2= n(4-B)=1 n(U-(4 U B))=3
areat = {4, 6,10} n(B-4)=4 Math@MUT
[ areal = {5,11,16} | 1
area? = { } n(intersect(4, B, C)) =0 n(4-B)=7
area3={1,4,10} n(union(4, B, C)) =12 n(B-4)=4
nsi<| 12 area4=1{0,7,9,12} . n(4d N B)=0 n(C N (4 U B))=5
areas = { } i n(B N C)=1 n(Cu (4 nB))=6
area6 = {6} nd U C)=9 n(intersect(4, B, C) ) =17
area7 = {2} n(Bu C)=9 Math@MUT
L Larea8 = {3, 8,13, 14, 15} | i
A v B=1{3,4,5,6,7,11,12,13, 14} ] [ 1=(4 N B={area2}) ]
4N B={5} 2=(B-A={area3})
A U B'=1{4,56,7,8,9,10,11,13,14,15,16} 3=((A-B) U (B—A)={areal,area3})
Bn A= {3,12} 4= (B/: {areal, area4, area7, aread })
Ansd = A-B=1{4,6,7,11,13,14} . Ans5 = S=(B v (4 n C)={area2, area3, aread, areal, area6 })
B-A= {8,9,10, 15,16} 6=((4 U B) n (B v C)={areal, area3, area4, areal, area6 })
(4 U B)= (8,9, 10, 15,16} 7=((A-B) U (A4-C)={areal, area?, area4 })
A N B= {8,9,10, 15, 16} .8=(A’ N B'= {area7, area8 })
L (4-B)=1{3,58,9,10,12,15,16} | i 9=((4~B) ~ C = {area$, area6, area7 }) |
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Set0l Answers for No.644211

areal = {2,10, 11}

areaZ= (1,6, 12] n(4 n B)=3  n(4uU B)=6

Ansl=| .1= 2=| n(4-B)=3 n(U-(4 U B))=6
area4 Zr~{et31,34, é, i, 8,9} n(B-4)=0 Math@MUT
“re“]:;‘j"" 6’11’ 13} n(d N B)=2  n(duU B)=9
Ans2=| 1= a“rr;“sz‘{{fo’ 12}} ,2=| n(4-B)=5 n(U-(4 U B))=2
irend = {8:9} nB-A)=2 Math@MUT
[ areal = {7} ] T
area? = {5,8,13,16} n(intersect(A4, B, C)) =0 n(4-B)=1
area3=1{9,10} n(union(4, B, C)) =10 n(B-A)=3
insi—| 1- aread = { 5 n(4 N B)=4 n(Cn(4uB)=1
: areas=1{ } - n(Bn C)=1 n(CuU (4 n B))=7
area6= {11} nd U C)=38 n(intersect(4, B, C) )= 15
area7 = {12, 18 } n(Bu C)=9 Math@MUT
Larea8 = {4, 6, 14,15, 17 } | ]

4 B=14,57,10,13,16} I .1=(B':{area], aread}) 1
, 4 N B={10,16} .2=(A—B'={area2})
AU B=1{680910,11,12 13, 14,15, 16,17} 3=((A-B) U (B—A)= {areal. area3})
B n A’:{49597} A4=(B n C={area5, areab})
Ansd = , A4-B={13} , Ans5 = S5=(B n (4 v C)={area2, area’, areab })
B-4={6,8,9,11,12,14,15,17} 6=((4 N B) U (B N C)={areal, areas, area6 })
(4 v B)': {6,8,9,11,12,14,15,17} J=((B-4) U (B-C)={area2, area3, areab})
A~ B={680911,12 14,1517} 8=(B - C = {aread, area7})
[(4-B) =1{4,5,6,7,8,9,10, 11, 12, 14, 15, 16, 17} L .9=(4" N (C-B) = {area3, area6, area8}) |
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Set0l Answers for No.644212

areal = {5,13, 14}

nd N B)y=1 n(duU B)=9
Ansl =| 1= area = {15} 2= n(4-B)=3 n(U-(4 U B))=4
area3 ={6,7,8,9,16} n(B-A)=5 Math@MUT
aread = {4,10, 11,12}
“’6“12{22’12’ 13,14} n(d n B)=0  n(4d U B)=9
Ans2=| 1= area;‘f{‘; gg}g 5y b2=| =B =4 n(U-(4 U B))=s
5o n(B-A4)=5 Math@MUT

area4 ={4,5,9,10, 11}

X
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0046]

[ areal = {6, 13, 14,19} ]
area2 = {9} n(intersect(4, B, C)) =1 n(4A-B)=5
area3 = {10} n(union(4, B, C)) =10 n(B-A4)=1
ns3—| 1 aread = {18} P n(d N B)=2 n(C N (4uvB))=2
' area5 = {17} - n(BnNnC)=1 n(Cu (4 n B))=5
areab = { } n(4 v C)=9 n(intersect(4, B, C)/): 16
area7 = {15,20} n(Bu C)=6 Math@MUT
L Larea8 = {4,5,7,8,11,12,16} i
4w B={7,9,11,13,14,15, 18} i A =(4 v B={areal, area2, area3}) ]
, AnB={} 2=(B-A={area3})
4 v B={4,5,6,89,10,12,13,15,16,17} .3=(A' U B'= {areal, area3, aread })
B A={711,14,18} 4=(A4 N B={area2, area5})
Ans4 = A-B={9,13,15} . Ans5 = S=(4 v (B n C)={areal, areal, area4, areas, area6 })

B —A=1{4,5,6,8,10,12,16,17}
(4 U B)=1{4,5,6,8,10,12,16,17}
A~ B={4,5,6,8,10,12,16,17}

L(4-B)=1{4,5,6,7,8,10, 11, 12, 14, 16, 17, 18 } |

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢

6=((4 U B) n (4 v C)={areal, area?, area4, areal, area6 })
7=((C—-4) v (C-B)={aread, areab, area7 })
8= (C’—B’: {area2, area3})
L 9=(4 N (C—B)/: {areal, area2, areal })
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Set0l Answers for No.644213

areal = {5,10, 12} N4 ~ B)=2 n(A4 U B)=6

Ansl=| .1 = a;f:j;_{fl’f}} L2=| n(4-B)=3 n(U-(4 U B))=7
aread=1{2,3,4,7,9, 11, 14} n(B-4)=1 Math@MUT
””“22{{’{12’}”} n(dnB)=1 n(duU B)=9
Ans2=| 1= areaz = 2= n(4-B)=3 n(U-(4 U B))=3

area3=1{3,5,8,9,14} "

areat = {713, 13} nB-A)=5 Math@MUT
[ [ areal=1{4,8,12,13} | )
area = {17} n(intersect(4, B, C)) =0 n(4-B)=5
area3 ={3,15} n(union(4, B, C)) =11 n(B-4)=2
ansi<| 12 aread = {11} 2o n(4d N B)=1 n(C n (4 U B))=1
' area5=1{} e n(B N C)=0 n(C U (4 N B))=5
area6 = { } nd U C)=9 n(intersect(4, B, C)) =17
area7 = {9, 10, 16} n(B v C)=7 Math@MUT
L Larea8={1,2,5,6,7, 14} ] ]
(4 U B=1{4,6,7,8,9,10,12,13,16,17} | i 1 =(A4'={area3, aread}) 1
' AN B={9} 2=(B - A ={areal })
A v B ={5, 9,'11, 12,13, 14, 15,16, 17} 3=((4 U B)’= {aread})
BN A4=1{4,6,72810} ,4=(A’= {area3, areab, area7, area8 })
Ansd = 4 ’_B: 112, 13,16, 17} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areas, area6 })
B -A4={5,11,14,15} 6=((4 Y B) n (4 v C)={areal, area2, area4, area’, area6 } )
(4 U B)=1{5,11,14,15} 7=((B-A4) n (B-C)={area3})
A~ B'={511,14,15} 8=(C - B ={area2, area3})
L(4-B)=1{4,5,6,7,8,9,10, 11, 14, 15} | L 9=(C N (B-A) = {aread, area5, area7}) i
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Set0l Answers for No.644214

areal ={3} n(d N B)=3 n(du B)=4
Ansl=| 1= “’eajr:ai 10;11} ,2=| n(4-B)=1 n(U-(4 U B))=7
aread = {2,4,5,6,8,9,12} n(B-4)=0 Math@MUT
areal = {10, 15,17} (A A B)=0 nA U B)=7
Ans2=| .1 = area;’r:‘f{fg{! 9}! 6} L 2=| n(4-B)=3 n(U-(4 U B))=8
area4 = {5,6,7,11,12,13, 14,18 } n(B-4)=4 Math@MUT
i i areal = { } ) ]
area? = { } n(intersect(4, B, C)) =0 n(4-B)=3
area3 = {12,15,16,17,19} n(union(4, B, C)) =12 n(B-4)=6
nsi<| 12 aread = {4,9,11} . n(4d N B)=0 n(Cn (4 v B))=4
areas = { } i n(B N C)=1 n(Cu (4 nB))=7
area6= {13} nd u C)=7 n(intersect(4, B, C) ) =17
area7 = {6, 8,18} n(Bu C)=12 Math@MUT
L L area8=1{5,7,10,14,20} | i
A U B=1{56,7,9,10,11,12,13} [ 1=(B = {areal, aread}) i
/ A4 n B={711} 2=(B-A={area3})
4 v B={45,6, 77 8,9,10,11, 13, 14} 3=(4 U B'= {areal, area3, area4 })
B nA4=1{12} .4=(A’= {area3, areab, area7, area8 })
Ans4 = A-B={5,6,9,10,13} , Ans5 = S=(4 v (B n C)={areal, areal, area4, area$, area6 })
B —A={4,8,14} 6=((A U B) n (4 v C)={areal, area?, aread, area5, area6 } )
(4 U B)=1{4,8,14} 7=((C—-4) n (C-B)={area7})
A N B'=1{4,8,14} 8=(C -4 = {areal, area2})
L (A—B)':{4, 7,8, 11,12, 14} ] L .9=((B—A)’—C,={area4, areal, area7}) |
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Set0l Answers for No.644215

areal =1{6,7, 12} nd N B)=2  n(duU B)=6

Ansl =| 1= “;:553:_{{31’04}} 2= n(4-B)=3 n(U-(4 U B))=7
aread = {0,1,2,5,8,9, 11} nB-4)=1 Math@MUT
areal = {0,3,7,10} n(A ~ B)=3 (A U B)=9
Ans2=| 1= ”’6“23:_{{1’24%? ,2=| n(4-B)=4 n(U-(4 U B))=2
ZZ;; (501 n(B—A4)=2 Math@MUT
[ [ areal = (3,8} ] )
area = {2, 14} n(intersect(4, B, C)) =0 n(4-B)=4
area3 = {5,13} n(union(4, B, C)) =11 n(B-A4)=2
ansi<| 12 aread = {11, 12} e n(4d N B)=2 n(C N (4 U B))=2
area’ = { } ’ n(B N C)=0 n(Cu (4 nB))=7
areab = { } n(4 v C)=9 n(intersect(A4, B, C)'): 14
area7 ={4,6,9} n(Bu C)=9 Math@MUT
L Larea8={1,7,10} ]
4w B={2,3,506,89,11,12} 1 =(A = {area3, aread})
AN B={39} 2=(4A-B={areal })
Avu B={1,2,3,4,7,9,10,11,13} 3=(4 N B'={aread})
Bnd= {5,6,8,12} 4=(4 v C={areal, areal, area4, areal, areab, area7 })
Ans4 = A-B={2,11} , AnsS = S=(4 n (B U C)={area2, area4, areals })
B -4= {1,4,7,10,13} 6=((4 N B) U (4 n C)={areal, aread, area5})
(4 U B)={1,4,7,10,13} 7=((C=A4) n (C-B)={area7})
A~ B'={1,4,7,1013} 8=(4 N C={area3, area8})
l(4-B)=1{1,3,4,5,6,7,8,9, 10,12, 13 } ] L 9=(B N (C-A) = {areal, aread, area8 }) ]
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Set0l Answers for No.644216

areal ={7,14,16}

area2 = {13} n(4 N B)=1 n(4 v B)=9

Ansl =| .1 = area3:{6,9,11,12,15}"2: n(Ad-B)=3 n(U-(4 v B))=4
aread = {4.5,8,10} n(B-4)=5 Math@MUT
areal = {3,7,11, 14} N4~ B)=1 n(A U B)=S8
Ans2=| .1 = ar‘;:;“i?o{’lé}g} L 2=| n(4-B)=4 n(U-(4 U B))=7
aread =1{1,2,4,5,9,10, 13} n(B-4)=3 Math@MUT
[ [ areal = {5, 14} i ]
area? = {8, 18} n(intersect(A4, B, C)) =1 n(4-B)=2
area3=1{9,12,16} n(union(4, B, C)) =10 nB-A4)=4
Ansie| 12 aread = { } 2 n(4d N B)=3 n(C N (4 v B))=2
' area5 = {13} > n(B N C)=2 n(C U (4N B))=5
area6= {15} nd v C)=7 n(intersect(4, B, C)) =17
area7 = {4} n(B U C)=8 Math@MUT
L Larea8 = {3, 6,7,10,11,17,19,20} ] ]
A U B=1{3,4,7,9,10,12,13,15} i 1 =(B = {areal, aread’}) ]
, A N B=1{413} 2=(B —A4={areal})
A v B={3,4,56,7, 8', 10, 11, 12,13, 14, 15} 3=((A4-B) U (B—A)={areal, area3})
B nA={9} .4=(B’= {areal, area4, area7, area8 })
Ans4 = 4-B={3,7,10,12,15} , Ans5= S=(B v (4 n C)={area, area3, aread, areas, area6 })
B —4=1{56,8 11,14} 6=((4 v B) n (B v C)={area2, area3, area4, area’, area6 } )
(4 U B)=1{5,6,8,11,14} 7=((C—-4) n (C-B)={area7})
A N B={562811,14} 8=(B n C={areal, area8})
L (A—B)':{4,5,6, 8,9,11,13, 14} ] L 9=(B N (C—A)’:{areaZ,area3,area5}) |
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Set0l Answers for No.644217

‘”“”: {2316{’97; 13} (4 A B)=1 n(4 U B)=10
Ansl =| 1= ma3_“{eg‘ 1112 14y [ 2| nA=B) =4 (U= (4 U B))=2
I | aread = (4,10} ] Ln(B-A4)=5 Math@MUT ]
””“2:7{?’59’151’1;7}} (4 A B)=3  n(4 U B)=9
Ans2=| .1 = ”rjfea;_{’g lor 27| nA-B)=4 n(U-(4 U B))=5
Laread = (6,7, 10, 14, 15]  -MB-A)=2 Math@MUT 1|
i areal = {5,8} ) |
area = { } n(intersect(4, B, C)) =1 n(4-B)=3
area3 ={0,7,12, 13} n(union(4, B, C)) =11 n(B-4)=6
nsi<| 12 aread = {9} 2o n(4d N B)=1 n(C N (4 v B))=4
= areas={1} 7 n(B N C)=3 n(C U (4N B)=5
area6={10,11} nd u C)=7 n(intersect(4, B, C)) = 14
area7 = {2} n(Bu C)=9 Math@MUT
L L area8 ={3,4,6,14} | |
[ 4 U B=1{3,5,7,9,10, 11, 12,13, 14} | i A=(4A N B={area2}) ]
- AN B={T.11} 2=(B - A ={areal })
AV B=1{3,46,7,8,91011,12,13} 3=(4" N B'={aread})
BnAds= {5, 14} 4=(4 v C={areal, area, area4, area5, areab, area7 })
Ans4 = A4-B=1{3,9,10,12,13} , AnsS = S=(A4 n (B v C)={area2, aread, area’ })
B-A= {4,6,8} 6=((4 N B) U (4 n C)={areal, aread, areas})
(4 U B)=1{4,6,8 7=((B-A4) U (B-C)={area2, area3, area6})
A~ B'={4,6,8} 8=(A4" U B ={areal, area3, aread, area6, area’, area8 })
L (A—B)':{4, 5,6,7,8,11,14} ] L .9:((B—A)/—C:{areal,areaZ,area8}) J
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Set0l Answers for No.644218

areal = {9, 13}

n(d N B)=2 n(4d U B)=7
Ansl =| 1= area2 = {3, 7} 2=| n(4-B)=2 n(U-(4 U B))=5
area3 = {8, 10, 12} n(B-A)=3 Math@MUT
L Laread4 = {4, 6, 11, 14, 15} ] - |
“’e"]:ﬁ’ 10, 12 16} n(4 A B)=2  n(4 U B)=8
Ans2=| 1= a“rfa‘;:‘{{ﬂ’ 12}} ,2=| n(4-B)=4 n(U-(4 U B))=6
| laread=14.5.6.8,9.13y) -ME-A=2 Math@MUT 1 |
[ areal = {5, 12,16} ] ]
area = {13} n(intersect(4, B, C)) =1 n(A-B)=4
area3 ={ } n(union(4, B, C))=9 n(B-A4)=2
nsi<| 1< aread = {7} I n(d N B)=2 n(C N (4uvB)=4
' area5=1{9} - n(B N C)=3 n(C v (4N B))=6
area6 = {3, 14} n(4 v C)=9 n(intersect(A4, B, C)/): 16
area7 = {17} n(BuC)=6 Math@MUT
L Larea8 = {1,2,4,6,8,10, 11,15} i
[ 4 U B=1{2,3,4,10,11,12,13,14,15,16} | [ 1 =(B = {areal, aread}) 1
- AN B=i{4 2=(A-B'={area2})
A v B= :{4, 5,6,7,8,9,10, 14,15} A3:(A’ A B = {aread})
B nA4={2311,12,13,16} 4= (B’= {areal, area4, area7, area8 })
Ans4 = 4‘32 {10, 14,15} , Ans5 = S=(4 v (B n C)={areal, areal, aread, area5, area6 })
B -4=1{5,67,8,9} 6=((4 v B) n (4 v C)={areal, areal, aread, area’, area6 } )
(4 v B)’: {5,6,7,8,9} J=((B-4) U (B-C)={area2, area3, areab })
A N B={56,7,8,9} 8=(4 N B ={area’, area8})
l(4-B)'=1{2,3,4,5,6,7,8,9, 11,12, 13, 16 } ] L 9=((4-B) - C={area2, area3, area8}) i
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Set0l Answers for No.644219

X [Page = 0053]

fregl_:{f;} 04 N B)=2  n(4d U B)=5
Ansl=| .1 = a“r;“3__{6’10} 2= n(4-B)=1 n(U-(4 U B))=6
aread= {0,1,2.3,5,8) n(B-A4)=2 Math@MUT ]
areal = {12’,2’{61’11}3’ 143 n(4d N B)=1 n(4 U B)=8
Ans2=| 1= a":;“j_‘{s 5) ,.2=| n(4-B)=5 n(U-(4 U B))=6
aread = {3,4,7,9, 10, 12} n(B-4)=2 Math@MUT
[ [areal =1{0,1,9,13, 14} ]
area? = { } n(intersect(4, B, C)) =1 n(4d-B)=5
area3 = {5,6,10} n(union(4, B, C)) =13 n(B-4)=3
= AN B)=1 Cn(4uB)=1
ns3—=| 17— aread ={ } 2= n(4d N B) n(C n (4 v B))
areas = {8} n(B N C)=1 n(C U (4 N B))=5
areab = { } n(4 v C)=10 n(intersect(4, B, C)) = 15
area7 ={7,11,12,15} n(B U C)=8 Math@MUT
L area8=1{2,3,4} ]

AU B={1,3,4,528,9 10,12}
AN B={}
AU B=1{0,2,4,6,7911,12}
BN A={13,5810}

A-B=1{4,9,12} 4

B —4=1{0,2,6,7,11}
(4 U B)=1{0,2,6,7,11}

A4 N B'={0,2,6,711}
[(A-B)=1{0,1,2,3,5,6,7,8,10, 11}

Ans4 =

1=(B= {areal, aread })
.2:(B’—A= {aread})
3=((4=-B) 0 (B=)=1{})
4= (B ={areal, aread, area7, area8 } )
S5=(C n (4 v B)={area4, areal, areat })
O6=((4 N C) v (B n C)={aread, areal, areab })
7=((C—-4) v (C—-B)={aread, areab, area7 })
.8=(C'—A'= {areal, areal})
.9=((C—A)’—B= {areal, aread, area8})

nss =

5
):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢



Ans4 =
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Set0l Answers for No.644220

areal = 13,9} n(d N B)=3  n(4du B)=8
Ansl =| 1= Z;ZZ?:;‘; }2 2= n(4-B)=2 n(U-(4 U B))=3
aread = {10, 13, 14} n(B-4)=3 Math@MUT |
areal = {2,5,8,9,10} n(A A~ B)=0 n(A U B)=S8
Ans2=| 1= arezgejz{ii}lz} ,.2=| n(4-B)=5 n(U-(4 U B))=5
aread ={0,3,6,7, 11} n(B-4)=3 Math@MUT
[ areal = {3,5} ]
areal = {6} n(intersect(4, B, C)) =0 n(4A-B)=2
area3 = {7} n(union(4, B, C)) =10 n(B-A)=4
szl 1o aread = { } S n(4 N B)=1 n(C (4 U B))=3
areas = { } i n(B N C)=3 n(Cu (4 nB))=7
area6={0,2,9} n(4 v C)=9 n(intersect(A4, B, C)/):IS
area7 = {8, 11, 14} n(Bu C)=8 Math@MUT
L Larea8 = {1,4,10,12, 13} |
A v B=1{2,4,9,11,12,13, 14} [ 1=(4 N B={area2})
' AnB={} 2=(B -A'={areal})
A v B={1,3,4,56,7,8,10,11, 14} 3=((A4-B) n (B-A)={})
B A=1{291213} 4=(B n C={area5, area6})
A-B=1{4,11,14} , Ans5 = S=(C n (A4 v B)={aread, area$, area6})

B -A4={1,3,5,6,7,8,10}
(4 U B)=1{1,3,5,6,7,8,10}
A nB={1,3,5,6,7,8,10}

(4-B)=1{1,2,3,5,6,7,8,9,10, 12, 13}
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

6=((4 N C) v (B n C)={aread, areas, areab })
7=((A-B) n (A-C)={areal })
.8:(B, v C= {areal, area, area3, aread, area7, areal8 } )
.9:((C—A)’—B'= {area2, area3, area5 })
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Set0l Answers for No.644221

areal = {3,13}

area2= 19} (n(4 N B)=1 n(4 U B)=8
Ansl =| .1 = area3:{4,6,8,10,11}"2: n(d-B)=2 n(U-(4 U B))=3
| aread = {5,7,12} Ln(B-4)=5 Math@MUT |
areal ={1,4, 8} (4 A B)=1  n(4 U B)=9
Ans2=| 1= area;‘f{“g’z’{;,zl}oy e =B =3 a(U=(4 L B)=4
L | wreat=2.3,9,133 | -nB-A=5 Math@MUT 1 |
i areal = {15,16} ) |
areal = {6} n(intersect(4, B, C)) =1 n(4-B)=3
area3 = {4,9,10, 11} n(union(4, B, C)) =10 n(B-A4)=5
nsi<| 12 aread = {13} e nd N B)=2 n(C N (4 v B))=3
area5 = {5} ’ n(B N C)=2 n(Cu (4 n B))=4
area6 = {12} n(d v C)=6 n(intersect(4, B, C)) = 13
area7 = { } n(B U C)=8 Math@MUT
L Larea8 = {7, 8, 14,17} | ]
[ 4 U B=1{4,56,7,8911,13, 14} | i 1=(B = {areal, aread ) i
AN B={45] 2=(4' - B={aread})
A v B={4,538, ?, 10, 11, 12, 13, 14} 3=(4 N B'={aread})
B nA=1{6,7; 4= (A’: {area3, areab, area7, area8 })
Ansd = A-B=18,9,1113, 14} , Ans5 = J5=(C n (4 v B)={area4, area$, area6})
B'-A={10,12} 6=((A N C) U (B n C)={aread, area5, areat})
(4 v B)’:{lo, 12} 7=((A-B) U (A-C)={areal, area2, aread })
A N B= {10, 12} A8:(B' U C= {areal, area?, area3, aread, area7, areas })
L  (4-B)=1{4,56,7,10,12} ] L 9=((4-B) = C = {area5, areab, area7}) ]
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Set0l Answers for No.644222
areal ={6,8,9,10,13}
area? = {7}

AnsE=1- 1=\ ea3= (12,14}
aread = {3,4,5,11}
areal = {8,12}
area? = {5,10, 11
Ans2 =| .1 = area3 = {{3! 6.9, 13}} .
aread = {4,7}
I areal = {11} ]
area? = {7,9}
area3 ={3,5,10}
aread = { }
Ans3=| 1= area5={ } 2=
area6={1,13}
area7 = {0, 8}
L Larea8 = {2,4,6, 12,14, 15} ]
AU B={0,1,57,910,11,12,13} |
AN B={1,10}
AU B={0,1,2,3,4,6,810,12}
BN A={517091113}
Ans4 = A-B=1{0,12} , Ans5 =

B —A4=1{2,3,4,6,8}
(4 U B)=1{2,3,4,6,8}

A N B={23,4,6,8}
[(4-B)=1{1,2,3,4,5,6,7,8,9,10,11, 13} ]

[Page 0056]

n(d N B)=1 n(4d v B)=38
,.2=| n(4-B)=5 n(U-(4 v B))=4
n(B-4)=2 Math@MUT
n(4 N B)=3 n(4d v B)=9
2= n(A-B)=2 n(U-(4 v B))=2
n(B-4)=4 Math@MUT
n(intersect(4, B, C)) =0 n(4-B)=1
n(union(4, B, C))=10 n(B-4)=5

n(4d N B)=2 n(C N (4 U B))=2
n(B N C)=2 n(CuU (4N B)=6
n(4 v C)=7 n(intersect(4, B, C)) =16
n(Buw C)=9 Math@MUT

A= (A'= {area3, area4})
2=(A4' - B'={area3})
3=(4 U B'= {areal, area3, area4})
4= (B’ ={areal, area4, area7, area8 })

S=(B v (4 n C)={area2, area3, area4, area’s, area6 })
6=((A4 U B) n (B v C)={area2, area3, area4, areal, areab })
7=((A-B) U (A-C)={areal, area2, aread })
8=(B-4= {areal, aread })
9=(4 n (B-C) = {areab, area7, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.644223

“:e";fg’i(z)i nd N B)=2  n(4d U B)=7
Ansl =| 1= afg;g’_‘H o.11y 27| nA-B)=2 n(U=(4 L B)=S
aread = 16,7,8, 13, 14} n(B-4)=3 Math@MUT 1|
“V‘;"f?z{ 141’9131}0} n(4 N B)=4  n(4 U B)=9
Ans2=| .1 = “Zer‘e’a;_{’l 614y 2= MA-B)=2 a(U-(4 v B))=6
aread = {3,5,7,8,12, 15} n(B-4)=3 Math@MUT
[ [areal ={2,4,10,15}]
area = { } n(intersect(4, B, C)) =2 n(4d-B)=5
area3 = {14} n(union(4, B, C)) = 11 n(B-A4)=3
i | areat=112} 5. n(4 N B)=2 n(C (4 U B)=5
IEEEN greas=1{6,11) [T n(B N C)=4 n(C U (4 N B))=6
areab = {3,5} n(4 v C)=10 n(intersect(4, B, C)) = 13
area7 = {7} n(Bu C)=7 Math@MUT
L L area8=1{1,8,9,13} | ]

AU B=1{2,4,6,7,8,10,11, 13,14}
A~ B=1{4,6,10,11}

AU B'={3,4,56,8,910, 11,12, 13}
BN A={2714}
A-B=1{8,13}

B —A4=1{3,59,12}

(4 U B)=1{3,5,9,12}

A N B'=(3,509,12}
l(A-B)'=1{2,3,4,5,6,7,9,10, 11, 12, 14 } |

Ans4 = , Ans5 =

[Page = 0057]

A= (B': {areal, aread })
2=(B-A={area3})
3=((4 n B)'= {areal, area3, area4})
4= (B,= {areal, area4, area7, area8 })

S5=(C n (4 v B)={area4, area$, areat })
O6=0(4 N C) v (B N C)={aread, area5, areab })
7=((B-4) n (B-C)={area3})
8= (B' U C= {areal, area2, area3, area4, area7, area8})
9=((B —A)’— C={areal, area2, area8})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.644224
areal = {5,9}

area ={2,10} n(d N B)=2  n(d4uB)=8

Ansl=| .1= 22| n(4-B)=2 n(U-(4 U B))=4
“;f:a34‘: { {46,6f,7§,181}} n(B-A)=4 Math@MUT
areal = {6, 10} n(d N B)=2  n(4du B)=7
Ans2=| 1= afer:;’i:{§57lﬁ} 2= n(4-B)=2 n(U-(4 U B))=6
aread = {4,8,9, 11,13, 15} n(B-4)=3 Math@MUT
[ areal = {4} ] ]
area? = {9} n(intersect(4, B, C)) =0 n(4A-B)=2
area3 ={5,6,11} n(union(4, B, C)) =11 n(B-4)=3
s | 1 aread = {12} S n(4 N B)=1 n(Cn (40U B)=1
areas = { } i n(B N C)=0 n(Cu (4 nB))=7
area6 = { } nd U C)=38 n(intersect(4, B, C)) = 15
area7 = {2,3,14,15,16} n(B U C)=10 Math@MUT
L L area8=1{7,8,10,13} | ]
[ A U B=1{3,56,9,10,11,12,13} | [ 1=(4 N B={area2}) i
’ 4 N B={13} 2=(A-B={area2?)
AU B=1{2,4672811,13, 14,1516} 3=(4 A B = {arcad})
Bnd= {3,5,9,10,12} 4= (B’: {areal, area4, area7, area8 })
Ans4 = 4-B={6,11} , Ans5 = S=(B v (4 n C)={area2, area3, area4, areas, area6 })
B-A= {2,4,7,8,14,15,16} 6=((4 U B) n (B v C)={area2, area3, aread, area5, area6 })
(4 U B)=1{2,4,7,8,14,15,16} 7=((A-B) N (A-C)={areal})
A4 N B= {2,4,7,8,14,15,16} 8=(B U C= {areal, area2, area3, area4, area7, area8})
[(A-B) =1{2,3,4,5,7,8,9,10,12,13, 14,15, 16 } | L 9=((4—-B) - C = {area5, areab, area7}) ]
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Set0l Answers for No.644225
areal = {4,6}

area? = {9,12, 15} ndnB)y=3 ndvB)=3

Ansl =| .1 = ,.2=| n(4d-B)=2 n(U-(4 U B))=4
areal = {2, 3} n(4 N B)=3  n(4 U B)=6
Ans2=| 1= ”78”22;7_’{1‘1"}12} ,2=| n(4-B)=2 n(U-(4 U B))=5
area4a:e{aﬁ,_6, 8,9,10} nB-4)=1 Math@MuT
[ areal = {16} ) i
area? = {8,9,10} n(intersect(A4, B, C))=0 n(4-B)=3
area3 = {13,15} n(union(4, B, C)) =10 n(B-—A4)=2
ns3=| 1 aread = {4,7} 2o n(4d N B)=3 n(C N (4 v B))=2
' area5=1{ } . n(B N C)=0 n(Cu (4 nB))=17
area6 = { } n(d4 U C)=8 n(intersect(4, B, C)) =15
area7 = {3,11} n(Bu C)=9 Math@MUT
L Larea8 = {2,5,6,12, 14} i
4w B=1{2,3,45813, 14} 1 =(B = {areal, aread})
S AN B=1{3,413,14} 2=(A-B={areal })
AU B=1{2,3,4,56,7,9,10,11,12,13, 14} 3=((4 N B) = {areal, area3, aread})
Bnd= {8} 4=(A4 v B={areal, area2, area3, aread, areal, areab } )
Ans4 = A-B={2,5} , Ans5 = S=(4 v (B n C)={areal, areal, aread, areal, area6 })
B -A= {6,7,9,10,11,12} 6=((4 Y B) n (4 v C)={areal, area2, area4, area’, areat } )
(4 v B)': {6,7,9,10, 11,12} 7=(B—-4) v (B-C)={areal, area3, areab })
A N B=1{6,7,91011,12} 8=(B - C = {aread, area7})
L (A—B)':{3,4, 6,7,8,9,10,11,12,13, 14} | L .9:((B—A)’—C:{area1, area?, area8 }) i
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Set0l Answers for No.644226
areal = {2,4,5,11}

area2 = {3, 12} n(4d N B)=2 n(d U B)=7

Ansl =| .1 = ,.2=| n(d-B)=4 n(U-(4 U B))=6
area3 = {13} B
aread = 16,7,8,9, 10, 14} n(B-4)=1 Math@MUT
“Zref’i;?’lz}lz} n(4 N B)=4  n(4d U B)=7
Ans2=| 1= areaar;a_?i{’ll}’» ,2=| n(4-B)=2 n(U-(4 U B))=5
aread = {4,5,6,7,13 n(B-4)=1 Math@MUT
[ areal = {2,10,13} ] i
area? = {5,12} n(intersect(A4, B, C)) =0 n(4-B)=3
area3=1{3,7,8} n(union(4, B, C)) =12 n(B-A4)=5
ns3=| 17— aread = { } P n(4d N B)=2 n(C N (4uvB))=2
=T areaS=1{ } Pl = n(B N C)=2 n(C U (4 N B))=6
areab = {11, 14} n(d v C)=9 n(intersect(4, B, C) )= 18
area7 ={1,4} n(Bu C)=9 Math@MUT
L Larea8 = {0, 6,9, 15,16, 17} | ]
4 v B=1{1,2,3,4,5,6,7,9, 11} I .1=(A/:{area3,area4}) ]
, 4 N B=1{4,5,6,11} .2:(A’—B’={area3})
A v B={01,3,4,56,7,8,10,11,12,13} 3=((A-B) N (B=A)=1{1})
B N A’:{259} A4=(A n C={aread, area5})
Ans4 = A4-B={13,7} , Ans5 = S=(A4 n (B v C)={area2, aread, area5 })
B-A= {0, 8,10, 12,13} 6=((A4 N B) U (4 n C)={areal, aread, areas })
(4 v B)':{O, 8,10,12,13} 7=((B-4) v (B-C)={area2, area3, areab })
A4~ B'={0,8,10,12,13} 8=(A" U B ={areal, area3, aread, area6, area’, area8 })
L (4-B)=1{0,2,4,5,6,8,9,10,11, 12,13} | L 9=((C~-A4) - B = {area2, area3, areas}) _
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X [Page = 0061]

Ans4 =

[(4-B)=1{2,3,5,6,7,8,9, 10, 12, 13} ]
):9:9:0.:9:9:9:9.9:9.:9:0.9:9.:0:0.9:0:0:0.9:9.:9:0.9:9.9:0.0:9.0:0.0:0:0:0.9:9:9:0.0:9:9:0.0:9.0:0.0:9.0:0.0:0.0:0.0:0.0:0.0.9.0:0.0:0.0:0.0:0.0:0.0:9.0:0.0:0.0:0.0:9.0.0.0:9.9:0.0:0:0:0.0:0.0:0.0:0.0:0.0:0.9:0.0:0.0:0.0:0.0:0.0:0:9:9.0:0.9.9:0.:0.9.:9:0:0.9.9:0:0.9.0.0.0:¢

B —A4=1{3,9,12}
(4 U B)=1{3,9,12}
A~ B={3,912}

areal = {5,12,13} nA ~ B)=1 n(4 U B)=8
Ansl =| 1= arege:“i:’ {6’1‘7"}10} 2= n(4-B)=3 n(U-(4 U B))=3
aread = 18,9, 11} n(B-4)=4 Math@MUT |
areal = {5} n(d N B)=2 n(4du B)=8
Ans2=| 1= area?ria<{20f2{,3é,79}, 1y 2= =B =1 (U= (4 U B))=4
areat—{1.4,6,10} nB-A)=5 Math@MUT
[ areal = {9} ] T
areal = {2} n(intersect(4, B, C)) =1 n(4d-B)=1
area3 = {5,13} n(union(4, B, C))=11 n(B-4)=4
nsi<| 1< aread = { } I n(d N B)=2 n(C N (4 v B))=3
area’ = {14} ’ n(B N C)=3 n(Cu (4 nB))=8
area6 = {3,12} n(4 v C)=9 n(intersect(4, B, C)/) =15
area7 ={1,4,7,16} n(B U C)=10 Math@MUT
L Larea8 = {6, 8,10, 11, 15} | i
(4 U B={1,2,4,5,6,7,8,10,11,13} | M d=(4 N B={area2})
4 N B={8,13} 2=(A' - B ={area3})
AU B={1,34280911,1213} 3=((A-B) U (B—A)={areal, area3})
BnA= 12,5,6,7,10} 4= (A': {area3, area6, area7, area8 })
A4-B={1,4,11} , AnsS = S5=(C v (A n B)={area2, area4, areas, areab, area?7})

6=((4 v C) n (B v C)={area2, aread, area5, areab, area?7 })
7=((C—-4) v (C-B)={area4, areab, area7 })
.8:(A,— C= {areab, area?7})
.9:((B—A)’— C= {area4, area5, area7})
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Ansd = A-B=1{10,11,13,14}
B -A=1{4,5,6,8}
(4 U B)=1{4,5,6,8}
A~ B'={4,56,8}

L (4-B)=1{4,5,6,7,8,9,12}

, Ans5 =

a"rre ea“;:‘ {{71’59}} ndnB)=2 n(duUB)=5
Ansl=| .1= areas - {4, 6} 2=| n(4-B)=1 n(U-(4 U B))=7
aread = (5,8, 10, 11, 12, 13, 14} n(B-4)=2 Math@MUT
“re“;r;a{;:‘{’;; 1} n(d N B)=1 n(4duU B)=10
Ans2=| =) s e o 13,15y f 27| MA B =4 (U= U B))=5
aread = 15,7, 12, 14,16} n(B-4)=>3 Math@MUT
[ areal = {7,15} | i
area2 = {17} n(intersect(4, B, C)) =2 n(4d-B)=2
area3 =1{6,8,9,11} n(union(4, B, C)) =11 n(B-4)=4
P aread = { } S n(4 A~ B)=3 n(C (40U B))=2
areas=1{12,14} [ nB n C)=2 n(C U (4N B))=5
area6 ={ } nd u C)=7 n(intersect(4, B, C)) = 12
area7 = {13, 16} n(B v C)=9 Math@MUT
L L area8={4,5,10} | i
AU B={7,9,10,11, 12,13, 14} [ 1 =(A v B={areal, area2, area3})
4 nB={12} 2=(B—-A'={area2?)
AU B=1{45,6,810,11,12,13,14} 3=((4 U B) = {aread})
BnA= {7,9} 4= (B’: {areal, area4, area7, area8 })

S5=(A4 n (B U C)={area2, aread, area5})
6=((A4 N B) U (4 n C)={area2, area4, area5})
7=(A-B) n (A4-C)={areal })
8=(B -4 = {areal, aread})
.9=((A-B) - C = {area5, area6, area7})

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢
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Set0l Answers for No.644229

areal = {1} nd N B)=2  n(duU B)=7
Ansl =| 1= ar:;;f{zzfzz‘;,}9} 2= n(4-B)=1 n(U-(4 U B))=4
aread = (5,8, 10, 11} n(B-4)=4 Math@MUT
areal = {3,4,7,12} n(A  B)=2 (A U B)=9
Ans2=| 1= ariiiai?s{,zg’ﬁ}l} ,2=| n(4-B)=4 n(U-(4 U B))=4
areat = (0. 1,810} n(B-4)=3 Math@MUT
[ areal = {8,15} | )
area? ={ } n(intersect(4, B, C)) =1 n(4d-B)=2
area3 = {9, 11,12} n(union(4, B, C)) =10 n(B-A4)=5
ansi<| 12 aread = { } e nd N B)=1 n(C N (4 v B))=3
aread = {2} ’ n(B N C)=3 n(Cu (4 nB))=5
area6 = {6, 14} n4d v C)=7 n(intersect(4, B, C)'): 13
area7 = {5,7} n(B U C)=8 Math@MUT
L Larea8 = {3, 4,10, 13} ]
4V B={3,4,56,7,12,13} I 1 =(B = {areal, aread}) 1
4“32{5’6’13} .2=(A—B'={area2})
4V B= {5:’ 6,8,9,10, 11, 13} 3=((4 n B)’: {areal, area3, area4 })
B N A=1{3,4712} 4=(B v C={area2, area3, area4, area’, areab, area?7})
Ans4 = A-B={} , Ans5= S5=(C n (4 v B)={area4, area$, areat })
B —A= {8,9,10,11} O6=(A4 N C) v (B n C)={aread, area5, areab })
(4 v B)’: {8,9,10, 11} 7=((A4-B) U (A-C)={areal, area2, area4})
A4 N B'=(8,9,10, 11} 8=(A4 - B = {area3, area6})
[(A-B) =1{3,4,5,6,7,8,9,10,11,12,13 } ] L 9=((C—A) - B={areal, aread, area8}) ]
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0064]

‘”e“: :2{:1,{86,}10} n(4 N B)=1  n(4uU B)=6
Ansl=| .1 = a:;ae;_gg Ny 2| pdA=B)=3 (U= U B))=S
aread = {5,7,12, 13, 14} n(B-4)=2 Math@MUT
areal = {52’52{’91:’ 14} n(4nB)=1 n(4u B)=8
Ans2=| 1= arezr;f {‘3 s11; 2= nA-BI=4 a(U-(4 U B))=4
aread = {4,6,7,10} n(B-4)=3 Math@MUT i
[ areal = {12} | i
area = {14} n(intersect(4, B, C)) =0 n(4d-B)=2
area3 = {4,6,9,15} n(union(4, B, C)) = 12 n(B-A4)=6
g | areat={T} S n(4 N B)=1 n(C M (4 U B))=3
WIEIEL geas=( )y T n(B A C)=2 n(C U (4 N B))=7
area6 = {11,16} n(d v C)=8 n(intersect(4, B, C)) = 15
area7 = {5,8,17} n(Bu C)=11 Math@MUT
Larea8 = {10, 13, 18 } | ]

AU B={8,9,10,11,12,13, 14,15}
AN B={8,10}
AU B =1{4,506,7,8910,11,13,14,15,16}
BN A={12}
A—B=1{9,11,13,14,15} i
B —-A=1{4,5,6,7,16}
(4 U B)=1{4,5,6,7,16}
A N B'={4,56,7,16}
(4-B) =1{4,5,6,7,8,10,12, 16} _

Ans4 =

):0.0:9:9:9.0.0.0:9:9.0.0.0:0:9.0,0.0.0:9:9.0.0.0.0:9,0.0.0.0:0,0.0.0.0.0:9:9.0.0.0:0.9.0,0.0:0.9,9.0.0.0:9:9.0.0.0:0.9.9,0.0.0:0.9.0.0.0.0.:9:0,0.0.0:0.0.0.0.0.0:9.9.0.0.0:0.0.0,0.0.:0.9.0.0.0.0.0:9.0.0.0:0.:0.0,0.0.0:0.:9.0.0.0.0:0:0.0.0.0.0:0.0.0.0.0.0.9.0.0.0.0.0.9.0.¢

Ans5 =

[ i =(A': {area3, aread })
.2=(B'—A': {areal })
3=((4-B) N (B-4)=1{})
4= (B ={areal, aread, area’, areal8 } )

S5=(4 v (B n C)={areal, areal, aread, area5, area6 })
O6=((4 v B) n (4 v C)={areal, area?, aread, area’, areat6 })
7=((B-4) n (B-C)={area3})
8= (A' U C= {areal, area2, area3, areab, area7, area8})
9=(B N (A—C)’: {area3, area5, area6})
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